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‘Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. Aninsurance organisation to stay competitive, has to use the internet to transact 16
insurance business . Discuss .
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2. a) How does unix differ from-other operating systems ? 6 each
b)  Specify the utility of file server.
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) a) Explain Hexa—Decimal Number system with some examples of 4
converting Decimal Numbers into Hexa Decimal Equivalent.

b) Convert (H) 5B C into Decimal number. ﬂ 2

i) Identify the following : 1 each

a) Inthis Unit all arithmetic calculations are performed and logical
decisions are made.

b)  This computer was made in University of Pennsylvania . It was made
of 18000 vacuum tubes. .

¢) Itisahandy tool for the System Analyst and gives an overall picture
of the system. As it has only four symbols, it is supposed to be the
simplest to draw.

d) Itis acomplex master control program whose principal function s to
make efficient use of the hardware. It manages the resources of the
computer.

e) TheTransmission of messages, documents and other information by
electronic means from one computer to another through telephone,
cable and or satellite links. ,

) Main memory on a chip with hard-wired programs and data. Data
stored cannot be erased or written upon .
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Write Short notes on : 4 each
* a) Functional specification Document. '
b) Ethemet
¢) Microcomputers
. ¥) Ffdfes 1 iy &9 fafa (e 1 1 3%)
~ ) LCD i) LASER |
- i) WORM iv) DVD
v) ENIAC v CSMA ‘
9) g ¥ 5T ey & F A & @ 2 (3 T 1 &)
) pwd i) cat ‘
i) fsck iv) df
v) who vi) more
a) Expand thefollowing: ~ . 1 each
p LCD i) LASER '
iy WORM ivy DVD
v) ENIAC vi CSMA
b) Whatdo these commands in unix stand for ? ' 1 each
) pwd i) cat
i) fsck iv) df
v) who vi) more
T IR i o & 32T § 0,000 AT § | TH MAH WAl
I R HSC R (FH & 3 )
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iv) HieX uifafe % fow $a g, 3o sttem & fic ST |

A general insurance company has date containing 10,000 policies. Preparea 3 each
program flowchart to : '

)  Select the policies which belong to motor class

i) Count the number of motor policies

i) Calculate the total premium received for motor policies and

iv)  Print the total number, total premium for the motor policies.
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7. a) Subtract101010 (bihary number) from another binary number 6
111000 1. Express the outcome in Decimal equivalent.
b)  State the Binary rules for addition and add the below mentioned Binary 4
numbers.
111
1010
11111
¢)  Find the Decimal equivalent of the.Binary Number 11 1000. 2

8. YA HeHAA (R erega) St A FNT | 91 & I8 12
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8. "Explain about Feasibility study (initial study). Also write how the facts about 12
the existing system are gathered."

(ma\asam)
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9. a) Thekeyinthe KeyBoardofa Computer can be classified into 7 groups. 6 each
Mention the functions of different keys.
b) Briefly describe Multiprogramming,
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10. erte briefly about : 6each
a) therole of I T department in an insurance organisation.
b) theuse of spreadsheet as an office automation package.
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ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE UNDERWRITING
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. Write short notes on :- 4 each
a) Insurance atadvanced ages ‘
b) Decreasing extrarisk
¢) Medical requirements to be submitted under keyman Insurance.
d) Object of selection of lives .
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2. a) Explaintheterms: 6
) Systolic Blood Pressure
i) Diastolic Pressure and
iii) Pulse Pressure .
b) Mention the six broad types of cases by way of classification of -6
Hypertension - Raised Blood Pressure.
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a) Describe briefly the organ Ear . 6
b)  How proposals disclosing the following impairments will be dealt with by 6
an underwriter ?
1)  Deafness
i) EarDischarge
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a) What safeguards are adopted by an underwriters in cases received under 6 each
Non Medical Scheme ?

b) Moral Hazard should be guarded against where the age of the proposer
is over 50. Give your view point .
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What is the underwriting significance in respect of the following impairments ? 3 each
a) Mastoiditis b) Meningitis

¢) Nephritis d) Conjunctivitis
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a) Describe the respiratory system.
b) How the proposals disclosing the following impairments are to be dealt

with by an underwriter ?

) Pharyngitis i) Pneumonia i) Influenza
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The following information is available frOrp the proposal and the Medical Report

submitted for Life Insurance.
a) MaleLife

Age 34 years

b)  Occupation . Teacherin a private School

12
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¢) Plan& Term :  Endowment Assurance with term 26 years

d) Sum Proposed : 'Rs.5Lacs.

e) Annual Income . Rs.2.50Lacs.

f)  Previous Insurance : Rs. 50,000/- under Endowment Assurance
with term 25 years, one year back.

g) Family History :  Father died of Coronary Attack at age 54
years. Mother living at age 60 years, health
good.

h) Personal Condition : 1 Overweight45% EMR +45

ii) B.P.reading 139/89
i) Myopia - Power of glasses in each eye
- minus7.

iv) Varicose Veins : Slight on both legs.

1) Personal History : Influenza 6 months back. No after effects are
present.

Mention what additional information and requirements are necessary to consider
the proposal and give your underwriting decision, if requirements are inorder
and found normal.

gy oot fafied (FAF & 3 3ih)

3) TfeE &t =y q) HICASIK

) T Thal ©?) Y afE Wiy
. Writes short notes on : 3 each
- a) Addison's disease b) KalaAzar

¢) Anaemia d) Prostatitis
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9. a) Indicate occupational extra and restrictions on plan and term, if any, in 8
respect of the following occupations as per the practice generally followed
by an Insurer in India .
)  Employees working underground in Lead Mines
i)  Drilling Assistant in oil and Narural Gas Industry.
i) Railway Engine Khalasis
iv) Jockys (Horse Racing - flat racing)
b) Mention four occupations under which the life assured will not be allowed 4
"Accident Benefit".

10. #yHE § difsa =afth & shamaiar s | fofa 2 Fofafaa st &
Hfere sfimishe Tge] A (3T & 3 37)
i) a9
i) YAV & T Y
iti)  STcfeTehIeT
iv) fafecia g |

10. Bring out briefly the underwriting significance of the following factors which 3 each
determine the eligibility of the diabetic for life assurance .
)  Occupation
i) Ageatentry
iif) Period of Probation
iv) Medical Supervision
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ASSOCIATESHIP- EXAMINATION
APPLICATION OF LIFE ASSURANCE
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. Todt av | 9w ool s | (T F 4 3()
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1. Write short notes on any four :- 4 each
a) Married Women's Property Act 1874.
b) Industrial Life Insurance
¢) Bonusloadings
d) Group Saving Linked Insurance
e) Mortality.

2. SR & A GRRE 3 5w & SR o &, oo g # e 12
Yo & Teoif U ST %99 &l WE ST |

2. "Risk s at the heart of every Insurance Policy" Illustrate the above statement 12
with the concept of Risk Management in Life Insurance .

3. &) Shaw dm e & fafie deeeil # W ST | (9% 6 3i%F)
T) o A 9_3¢ F g ¥y vfawm & R @ wides
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- What are the distinguishing characteristics of a Life Insurance Contract? 6 each
Explain how Sec. 45 of Insurance Act 1938 restricts the doctrme of
warranty ?

qgﬁmamwﬁsﬁm ueRe fofea smavawast & @ 12
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"Capital Liquidity Need Ahalysis (CLNA) is truely a modern process of 12
measuring financial needs of the family and preparing sound solution."” Describe
the details with Illustratlon

&)

)
)

a)
b)
)

)

)
)

a)

b)
c)
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"Annuity may be described as opposit of life insurance protection against 4 each
death” . Explain the statement.

State main annuity contracts and describe each one of them.
What are the options available under the Annuity Contract ?

(I0F & 4 3()
SOHIHT YT AU 2] ¢ & i Weligd AR SHEERY H
Ui & |
UM QN AU 9]¢ F Fia SUNE ®F & 2
T s & sl Rreea &1 v @ @ 2

Mention four rights which have been accepted under Consumer 4 e€ach

" Protection Act 1986.

Who is consumer under the Consumer Protection Act 1986 7
What could be the subject of complaints under the Act ?
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7.~ a) Whatis group insurance ? 4 each
b) Enumerate criteria for eligibility for Group Insurance .
¢) Stateeligible group (conventional) for Group Insurance Contract .

(TTF F 4 3%F)
8. &) [ HRIHl W SURR M s (3]6R) W & 8 2
Q) IUEH forT ueell % R W aver fRar e @ ?
) feqedt @ oI S A g S 9eERT & 7T qwi w1 e

HeNT |

8. @) To which establishments Payment of Gratuity Act 1972 is applicable ? =~ 4 each
b)  Onwhich contingencies Gratuity is payable ?
- ©) Discuss the salient features of Cash Accumulation System of providing
Gratuity .

0. F) T & g RreR B GERY | | (5741 35 6 31%)
@) S T R § 3 fe o @
) oI Teia svafy s
i) e S

9. a) Explainthe basic concept of Re-insurance. 6 each
b)  Explain how proportional re-insurance is provided under
) Yearly renewable term insurance
i) Co-insurance.

(TH H 6 ()
10. %) “Hfewwor ggfd e & § 5o gt f 871 5 suw @
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10. a) "Distribution System plays a majorrole in the area of marketing". Explain 6 each
this statement with reference to Life Insurance Industry.
b) Postal Life Insurance (PLI) is one of the competetive player in Life
Insurance Market - Explain this statement elaborately.
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ASSOCIATESHIP EXAMINATION
LEGAL ASPECTS OF LIFE ASSURANCE

T : 3 WL | [T 3t : 100
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. Tl e W dftra fEwof fafed - (90 & 4 i)
) At qd ST |
q) FOT B IR § Uk & R (M L)
H) g &I gurer
Q) oitreie STald qoeAT (FTwiet §2)
3) uiferdt For

1. Whrite short notes on any four:- 4 each
a) Judicial precedent
b) Garnishee Order
¢) Presumption of Death
d) Interpleader Suit
e) Policy Loans

2. ) Sfed S oTey § ‘GRS wFmadt @ 2 3
Tg Ay H fRY YAyl e @ ?
9) ST AUfEH R3¢ W UW ¥4 & HAT HL IHH AT 6
H | 9 9 T wferdt uRel & fedt ot @ war @ 2
q) fReT T 2%.0%.04 I SfiaH oy Uifered off | TEW & HROT - 3
AR T R4.0§.009 FH g | TG H T W HEA @B
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What is a warranty under life insurance contract? How it affects the
contract?

State and explain Sec. 45 of Insurance Act, 19382 How it protects the
interest of policy Holders?

Mr. ‘M took life insurance policy on 24-9-05, he died on 25-6-07 due
to Aids. Death intimation to insurance company was sent on 5-8-07.
Insurance company took decision to repudiate death claim on 24-10-07.
State with reasons based on decided court case whether sec. 45 of
Insurance Act, 1938 would be applicable?

(I H 6 ()

AT WY FifvE o e awg susiie ST @y g2k
& Sfaiid “Iudieh ferane FrART STENT @ A W@ W O
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State and explain, how three-tier redressal machinery provided under
Consumer protection Act, 1986 helps consumer for speedy disposal of
complaint?

How recent amendments in above ‘Act’ has made it more effective?

St T B oifere @ STRT A UReE s siuhEy
RRI¢ F UN 3¢ W Haed ger 87 I wed & ‘ot
% sieia wafe wd % e W e SR |
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6 each
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Transfer or assignment of policy of life assurance is governed by Sec. 38
of Insurance Act, 1938, enumerate this statement with reference to relevant
provisions made under the ‘Act’?

Whether minor is competent to contract? If not, how nomination/
assignment can be made in favour of minor?

‘X alife assured under his own life policy nominated “Y’ as a nominee
during his life time. ‘X’ died after maturity of policy but before getting
maturity claim amount. To whom claim amount will be payable?

AT ST Affam ¢ ] 2y & AER fofafead i afwfa
Hiforr |

i) oERE

i) SETOT

iii) fTEER

iv) Jeiteh

SiHTeRdl, JRIET H AU & & ol o= - Fa1 vy
i @ ?

vim-ufed gog <l S sefa @ S g 2

As per Indian succession Act 1925, define the terms:-
) Wil

i) Probate

i) Executor

- iv)  Administrator

What are the general requirements called by Insurer while settling death
claim?
How Early death claim cases are dealt?

6

3

3

| (v 4 37)
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6.  Bringout the provisions generally made by an insurance company in life insurance ~ 4 each -
policy under following policy conditions.
1)  Days of Grace
i) Policy Loan
i) Surrender and Paid up .

7. 3) GHE ST H TR wier et s admd | 3
q) 9RAE Sfed s e w6 fefafen ggg S A @t 9
fereroaniall @1 aui wifeE |
) 8 3YSH Sitad diur e |
i) ‘$Sef’ (ED.L.L) TNl & T R St e’ Ao |
i) B ‘TEd GRS Fem |

7. a) State any five distinguishing characteristics of Group Insurance?
b)  Give salient features of following Group Insurance Schemes framed by 9
LICL
1)  Group Gratuity-cum Life Assurance Scheme.
i) GIL Scheme inlieuof E.D.L.I. Scheme.
i) Group Savings Linked Insurance Scheme.

W

8. 37) IR HiewT Sl o STER FIF-FH § a3 37oa 8

YA ?
9) “3H 9 W S 9§ o fagia @@ @ 2 vl AR | 4
8. a) Whatare VOID agreements as per Indian Contract Act? 8
b) Whatis the principle of “Consensus Adidem?” Describe it. 4

9. ) YRA. & I= Y Ud Haled @R & USRI & HaT 6

HifS |

) ifert o it & ford e e & ford wee s wiET 3
g ? uftdir sifufrem 9R83 & wed §f wrfud wEyH! % ded
ITH AR HfS |

H) et/ Susi AR Faren ST g fifttg selt % s 3
T 98 WE Sifv 5 s § i siftem, stfverat gr saweat
% T ST A A W AueRdl H1 = e aar @ 2
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9. a) State the powers of High Courts in India and Powers of the Supreme 6
Court of India?
b) Whatis a period of limitations for suit on policy moneys? Explain with 3
reference to relevant provisions made under Limitation Act, 1963.
c) Explain on the basis of decided court/consumer cases the liability of an 3

insurer under life insurance policy when the Agent collects the premium
from the proposer but fails to deposit the same with insurer?

10. 3MER AfFEH, R§2 & STUR Fufafad & uRafa Fiw 12
iy ™I
i) QT
iii) & fereior
iv) d oy
v) SR fereieer o
vi) ST

10. As per Income Tax Act, 1961 Define :- 12
) INCOME
i) Assessee
i) Assessment
iv) Previous year
v)  Assessment year
vi) Individual
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LIFE ASSURANCE MANAGEMENT
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
(T & 8 3i)

1. &) waﬁw%wmﬁxﬁwémmmafw
A SR e o R W1 o, SWih 3299 29 R
e yuelt wgfa & warEl o fagame & |
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1. a) Themanagementshould encourage smooth flow of informationto achieve 8 each
better coordination and control. Discuss the efflcacy of Briefing Group
System for the above purpose.

b) Ithasbeen decided to float a new Business Competition for the Insurance
Advisors/Agents working in rural area. What factors should be kept in
mind while communicating the message to them to get optimum response?

2. iR W FST :- (FT & 4 37)
%) @ iR a9 afed wiierdt e RS g
@) W | B2 a9 T W g
T) uiferdt AR aon wiferd et




2

. - Distinguish between :

a) Bonus to with profit policies and Guaranteed addition.
b) Discounted value of Premium and Discounted value of Claim.
¢)  Assignment of policy and attachment of policy.

T S T S SeEEe I S 9 6.

3) 39 fava W e & R YR 3 I 396 ¥ ST
qfeh 9 1 fIeR 1 G Sl et i 3l qa Fe &
ST W |

) ST MuAEar & ¥ fafs waum & gei seie | 2

Alife insurance company wants to launch its own website.

a)  Discuss what type of information can be made available to expand the
business and service the existing clients.

b) Suggest measures to protect the confidentiality of data also .

) I &l F i S R S d 2
) i o T ot et & o @ snevaman 8 2
F) WE S feqeny & Wy &t | -

a) How do you classify death claims ?
b)  What are the requirements for considering early and non-early claims ?
¢) Explain about permanent disability benefit .

(TAH
) Y8 FT A 2 HI ik T H1 S, W T B F w0
8 B & | T A ST AT e S A @ 2 2
) EH S STEEROT 9gd Teequl Sl €, ST STER T §ieA
T U Sl YRR i A SER §AT = |

a) Itissaid that personnel recruitment begins with recruitment and selection
of personnel . What are the various stages involved in recruitment process ?

b)  The concept of the term 'Promotion' is very important . According to you
what should be the basis of a Successful Promotion Policy of an
Organization ?

AL -25
4 each

* 6 37F)

6 each




3 AL -25

6. /AT & e HIRUT Gled 1 (V8% & 2 3)
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6. State with reasons which of the statements given below are true or false. 2 each

a) Wholelife policy taken for the benefit of dependent of life assured can not
be surrenderd by life assured .

b) Claim is not payable if life assured commits suicide within one year from
the date of commencement or from the date of revival of policy .

¢)  Premium installments falling due before the date of next policy anniversary
are also deducted from death claim payment.

d) Change of nomination can be effected by life assured with the consent of
existing nominee.

e) Theinsurer can impose fresh terms and conditions at the time of revival of
policy .

f)  Appointee is required to be appointed if nominee is a minor .

7. #7) Sfted AT A F ANG Yo H R Heed 2 2 (I% T 4 3()
q) T favewer dete & Wy &t | '
H) O HEH % I & H G B ATE S a6 s

e ST Wehell & |

7. a) Whatis the significance of Management of Cost in a life insurance 4 each
company ? _
b) Discuss Value Analysis technique of cost analysis.
©)  Suggestthe areas in your company where cost reduction can be attempted.
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(0T & 6 3(h)
aﬁmw%ﬁﬂaﬁ‘éaﬁ%m%ﬁaﬁmm@%ﬁéﬂ%ﬁmq

F AT ETTRA & 2

39 G TN H e H e S s e e g
AT W @ | (YYH, S et qen g gt oeerd &
AH)

What is the necessity of Investments of Insurance fund to be regulated 6 each
after the insurance business has been opened ?

Describe in short the norms prescribed by IRDA for Life Insurance Fund

(other than pension and general annuity business and unit linked business).

(Hﬁ%ﬁ%aw)
T U g Y yeR &) RreEdl A @ieR R e g ?

qmaﬁmmmmmg{m%gw—wmmﬁm@:?

Describe various types of complaints entertained by Insurance 6 each
Ombudsman?

What type of measures must be taken by an insurance office for security

of cash handling ?

(IRE & 6 3(h)
Gﬁmaﬁmmﬁqﬁﬁﬁaﬁ“mm”wmﬁq
ol & |
T FHIN & faeg SFemads SRidE! TS & H el St

AT FIfGT |

Mention briefly about application modules in a Life Insurance Office ? 6 each
What are the steps involved in instituting disciplinary proceedings against
anemployee ?
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" ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE FINANCE

T 36 ] [&er 3fa : 100
Time: 3 Hours] [Total Marks : 100
Toredt 21Ta weet o I dRIT | o W & 16 ik § g T etframd i § )
FIF AN AR T 12 AFHE |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. . Marks
1. TR WS ARG IT9RY HA! & qe9 38-3-30%0 & #rd faar 16

T R | AT S AT 2] 3¢ g FHiRE SIET 3 STER Ter
@IﬁTﬁIﬁE\BTﬁZﬂI?Sﬁ'a:- )

(WU @ W)
@ vitd T S
M AT & Q,¥00 -
frhal 33,¥00 -
afdifeRa R,%30 -
afiiferatl (ST T 3TEw) - wyo
THS AT dF AW &, %40 -
7 @ R%,9%0 -
gRuererar 3¢,399 -
fyerafet & FHHT 4,%¥30 -
AU qEEr | FHHYE - 23
AN CIEIED %ﬁ BIRETS] - ¢,¥o00
JYLhI &,3¥o0 -
s Sty sfiftre - ¥3,300
A g R¢,¥00 -
= il & fafrae 1 ¢,30,%00 -
oAl AT SR R - ¥3,%00
RUSIERI | 3¢,9%0 -

S TR ¥\9,4 3\ -




2

(FqT wrEt /)

@ yitd E it} STHT
Sitee fAfy - ¢,30,0¢%
e HR §,400 -
EETEIR A - 3,%o0
JehrET YRGS - R%,4%0
T Sfeifed < - 3,38%
YYD T oY 3,0 -
i fashg § oy ‘ - v ¢
il ST e - 29,400
TFeiEa shftrem - RR,¥0
A G Shiftrem ReR -
Cocl 4,%8R -
mgﬁ_w - RY,000
fofeer R,32% -
Ao ‘ ],4R0 -
fofay so1 @ Y, 30 -
W:' 20,60,62§ 20’6°r622
Frafefas e & § ;- (¥ wrE ®)
) W WmT - ey Sy R,R00
- AT &N R,4Y40

- - IYER \ W40

i) <F AR & U gEue SR 3,384
iii) 1R SR Wiy ol F AT sTRET AU oYy
v) N AT W/ EFE
v) YEYRg THET Fg & &
vi)  SANd SYeM EEqC

Following is the Trial Balance of Ever Shine Life Insurance Co. Ltd. on
31.3.2010 . Prepare Revenue Account and Balance Sheet as per format
prescribed by Insurance Act 1938.

AL -26

16
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(Rs. in Lakhs)

Head of Account (Debit)  (Credit)
' ' Rs. Rs.

Advance I. Tax 2,400 -
Agents Balances 23,400 -
Annuities 2,930 -
Annuities (Due and unpaid) - 750
Cash and Bank balances 6,450 -
Claims by Death 21,720 -
Claims by Maturity 38,317 -
Commission to Agents 5,430 -
Commission on re-insurance ceded - 117
Consideration for Annuities granted - 8,400
Furniture and Fixtures 6,340 -
1St year premium - 42,300
House property ' 28,400 -
Investment in Approved Securities 8,30,200 -
Interest, dividend and Rent - 43,200
Loans on Policies ’ 38,720 -
Loans on Mortgage 47,517 -
Life Fund - 8,37,782
Motor Cars 6,800 -
Outstanding Claims (Death) - 3,740
Outstanding Claims (Maturity) - 11,590
Outstanding Claims (W. Back) - 3,312
Other expenses of Management 2,170 -
Profit on sale of Assets - 718
Policy Deposits - 11,500
Renewal Premium . - 92,410
Re-insurance Premium (Ceded) 912 -
Salaries 5,912 -
Share Capital - 25,000
Sundry Debtors 2,311 -
Surrenders 9,520 -
Sundry Deposits 1,370 -
Total :- 10,80,819 10,80,819
Following adjustments are to be considered:- Rs. in Lacs.
i)  Providedepreciationon - House Property 1,200
- Motor Car 2,550

- Furniture and Fixture 750
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vii) A fire occured on 25th March, 2009 in raw Godown and stock of the
value of Rs. 5,000 was destroyed. It was fully insured and the Insurance
. Company admitted the claim in full.

9. %) ‘mem’aﬁt‘ﬁmwmﬁ’Waﬁ

®) el B a@maﬁﬁr@wmm%mwaﬁl |
T) G-I & oy g § ? 4

9. a) Explainthe terms 'New Business Cost Ratio' and 'Renewal CostRatio'. 4 each
b) Name any six Accounting Standards apply to insurance industry.
¢) What are the advantages of Auditing ?

10. %) S fRiAT & =y RIF & ? (Y% & 4 )
) forit favemm & & ok e @ gumEw |
L) EH AU g8 F OURT 9y w2

10. a) What are objectives of Budgetory Control ? . ’ 4 each
b)  Explain techniques and tools of Financial Analysis.
¢) Whatis Section 115 B of Income Tax 1961.
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Provide for Income Tax payable 3,215
Create Reserve for Bad and doubtful debts 75
Interest Accrued but not Due 123
Outstanding expenses of management 66 .
Accrued Gratuity 217

‘GraT W S oienfig SR |

AT WA & S99 91 7@ o9 § 2

frafafed el & guR & fou savas sHa safear sRa -

) ¥ Q000 FH TH U wifcieh & g U HIT T &
o ferrett T e ™ =9 @ & AW & fear T

i) AR Y ®. 3,000 F GG I AW YW 9 fomRd Y
7 wfaw & fear m |

ii) HIFT F F. ¢,000 FH IYR T TAT A A § FA
g ® wfae o fear |

V) ®. 3wqomwﬁW%ﬁqﬁqmmwéa
FiwiTa @A 8 AW Ry T

v) UH TESh & & 9,400 & 9o TG A faeT 3GF qaA
T @ AW & e e |

v) ¢ U & E. Yoo H A A <9 S G199 fFA T
(o ATl i wwer & & foran o Afee aruet &) gfafy
et § 3 ol @ @ TR ovafd 3¢ W % ferfy ad &
THI B & 91

Vi) ®. 3,000 F TF o S [WH FEicd ST I &
o= @ 1, sﬁwmmﬁmmﬁmwﬁﬁ
T3 ST H G &, 3,400 97 |

vii) & ¢oo W TH WA W AN & ffw W gg o, 9
HHTH @A § s e T |

Define the words 'book keeping'.

What are the four main advantages of book keeping ?

Pass necessary journal entries to rectify the following errors :

)  AnamountofRs. 2,000 withdrawn by the proprietor for his personal
use has been debited to trade expenses account.

o]
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TRIAL BALANCE (Debit)  (Credit)

Rs. Rs. -
A. Atmaram's Capital Account - 1,81,000
A. Atmaram's Drawing Account 36,000 -

Plant and Machinery (balance on 1.4.2008) 1,20,000 -
Plant and Machinery (balance on 1.10.2008) 25,000 _ -

Stock on 1-4-2008 95,000 -
Purchases 7,82,000 -
Return Inwards 12,000 , -
Sundry Debtors 20,600 -
Furniture & Fixtures 15,000 -
Freight and Duty 2,000 -
Carriage Outwards 500 -
Rent, Rates and Taxes 24,600 -
Printing and Stationery 3,800 -
Trade Expenses 5,400 -
Sundry Creditors - 40,000
Sales - 9,80,000
Return Outwards - 3,000
Postage and Telegrames 800 -
Provision for Doubtful Debts - 400
Discounts - 1,800
Rent of premises sub-let for a year up to 30.09.2008 - 7,200
Insurance Charges 2,700 -
Salaries and Wages 31,300 -
Cash in Hand 6,200 -
Cash at Bank 30,500 -

12,13,400 12,13,400

Adjustments :-

) Stockon 31.03.2009, was valued at Rs. 94,600

i)  Write off Rs. 600 as Bad Debt

i) The provision for Doubtful Debt is to be maintained at 5 % on Sundry
Debtors.

v) Create a provision for discount on debtors and Reserve for discount on
creditors at 2 %

v)  Provide for Depreciation on Furniture and Fixtures at 5% per annum and
on Plant and Machinery at 20% per annum.,

vi) Insurance unexpired was Rs. 100
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i) A purchase of goods from Nathan amounting to Rs. 3,000 has been
wrongly entered in the sales book.

i) A Credit sale for Rs. 1,000 to Santhanam has been wrongly passed
through the purchases book .

iv) Rs. 3,750 paid on account of salary to the Cashier Dhavan stands
debited to his personal account.

V) A contractor's bill for extension of premises amounting to Rs. 27,500
has been debited to building repairs account.

vi) On 28th march goods of value of Rs. 500 (sales return) were returned
by Akash Deep and were taken into stock but the return was entered
in the books on 3'd April, i.e. after the expiry of the financial year On
318t March.

vi) A bill of Rs. 2,000 for old office furniture sold to Sethi was entered
in the Sales book. The value of furniture sold was Rs. 2,500

viil) An amount of Rs. 800 received on account of interest was credited
to commission account.

3T FAEY -
) WEYN TS SARET

ii) wamﬁmm@aaraaﬁmm
i) i oiEd wE 9@ ST

iv) de9e Wg faear |

Distinguish between :

Provision and Reserve

Money back Policy and Term Insurance Policy
Writing back and Writing off

Trial Balances and Balance Sheet .

%) d% fgeror ok % @ & IN F IR B F FAOT fafEq |
frrafafa gomT % oTuR W & wamee fer SRy

)

1)
iif)
v)

)

i)
ii)

THE TE % IER 32.3.300Q H W VT &. ¢R,§0,340
<l 97 |

F. ¥,40,000 & 34.3.300% I S H T & =l H @
T 9% ®. 3,34,000 & 39.3.300% FH I & TH W
I I ¥.¥.300% FH 5§ |

12

12




AeTe o o
®, ®
RISIRCIS] . 4oo -
m,ﬁe'ﬁfﬁ R¥,§00 -
B i S wmft 3,400 -
AR g Y,¥o0o0 -
ﬁ'ﬁﬁm - ¥o0,000
fersnar - R,L0,000
EIC RN - 3,000
31'%'@’?“? oo -
WW%WW - Yoo
q\g - " ¢,Lo00
ol & o o RS R T o
% Y 30.%.300¢ T I3 T - 9,300
EﬁqTW Q,\goo -
SRERRER 3,300 .
eI g §,R00 -
WW 30,400 -

2R,23,%00 §%,83,¥00

AN ¢ _

i) 3%.3.300% H HUER H oF &. R%,500 9 |

i) ® §oo TN WU & &Y ¥ g3@™ § ST |

i) HCGRIE FEUT % Y AU Y% &1 & fafire ssiani w8l

iv) HSICN o AT 92 I TouH FRT 3R e | 3 JFee &t &
T 937 TR | |

v) ST W ST S SEUM 4 SR Sad # ) S R q97 97
IR 7T W 30 wfirerd sfrad F X F TEUE SR |

vi) 3THHIS i &, Qoo 9T | |

vil) 4 H 00 &Y e F S T T S F. 4, 000 o FH ASK
T 8 TR | 78 i it o Stk smr s ¥ g g o

From the following Trial Balance of A Atmaram as at 3 1st March, 2009 you
are required to prepare a Trading and Profit and Loss Account for the year
ended 31st March, 2009 and Balance Sheet as at that date, after making the
necessary adjustments. Also give journal entries for adjustments .

12




)
)
)
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b)
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i) TH 9% E & T . Qkooooaﬁmﬁwﬁm
¥ ¥ S& g 4,000 A R T |
iv) &% g ®. ¢, 000 F g% TR AW 5 T 59 Ao @
T ¥.¥.300% & G forar T |
v) ®. 3,000 T IFAEd UF 3% g %.3.300% FI AW
T W IER Y g ¥ ¥.¥.300% I T |

Give reasons for the difference in the Balance as per Bank Statement and 4
-the Balance as per Bank Account as per Cash Book for the same period.

Prepare Bank Reconcﬂlatlon Statement on the basis of the followmg 8

information.

) Debit balance as per Cash Book as on 31.03.2009 Rs. 12,60,350.

i) Out of two cheques deposited totalling to Rs. 4,50,000 on
25.03.2009, one cheque of Rs. 2,25,000 was credited on
31.03.2009 and remaining cheque was credited on 04.04.2009.

iif) Cheque issued forRs. 2,50,000 towards Rent was wrongly debited
by bank for Rs. 25,000.

iv) Bank charges of Rs. 1,000 debited by bank which was accounted in
the Cash Book on 04.04.2009

v)  Cheque dishonoured for Rs. 3,000 debited by bank on 29.03.2009
was accounted in the books on 04.04.2009.

(IF % 4 )
IR AU 3R&% F AR FuAT wr%amm 3R
FFNN WA G H GHHET |
fercftar foramor & e o/ g § 2
foritar faeror & i ¥ Sygmedl & 2
TS - T § 2 -

Please explain the terms Permanent Account Number and Tax Deduction 4 each
Account Number as per the Income Tax Act, 1961.

What do you mean by Financial Statement ?

Who are the prominent users of the Financial Statements ?

What are the objectives accounting Standards.
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frafafea srurl & fow g saEy ot 989 § 9% qg &
gHARY ;-

) I FF HU i) ST U

iii) A (FeT) ST iv) Y€ A I

v) FU-EME ST vi) HU-RET SESEA I
Give Formulae for following Ratio and Explain significance in brief :

1)  Overall Expense Ratio i) Conservation Ratio

i) Current Ratio iv) Net Profit Ratio

v)  Debt- Equity Ratio vi) Debt - Service Coverage Ratio.

%) wKit F fenwdt i fafrdl & A feflaw oiik 39 9UEEy |
@) WA H ST e H IARE S qEE F T FERi & e |
T S o Ueiee o § o S dr | 2

a) Name and explain any three methods of depreciation .
b) Describe errors of accounting that are not disclosed by a Trial Balance .
¢) Whatis the difference between Capital and Revenue Expenditure.

T AN & fufefad 3¢ 9= 00% & del9e ¥ 3¢ AN Qo008
! THNG 9 o] SHYR qUT <19 U g @rdl R S a0 faean
R e sTavas qurEieH ot ST | $Ua 37 GHESH & fag

SHe yfafeal ff fafau |
L[S 1° [ ™ SE|
® ®.
W, ATHIH & Sl @ - g,¢%,000
T, HATHNH & @01 @Il 3§,000 -

¥ Td HEH (2.¥.300¢ H TW) 3,R0,000 -
4 T 9 (¢.%0.R00¢ FH TI) 4,000 -

z-x—Qooc?ﬁW RYy,000 -
Ex \9,{R,000 -
JdRE araet g3,000 -
fafae e Ro,§o00 -

ERLET
gﬁ”g 3ﬁTEb'{ Q’ooo -

12

12

12

12

12
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ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES

T 3HS ] [t 3fas : 100
Time: 3 Hours) [Total Marks : 100
TRl 3tTe w3 S R | v wew & 16 aie § g T arframd T
It URE YT 12 i & ¥

Answer EIGHT questions only. Question ONE carries 16 marks but this is not .
compulsory. All other questlons carry 12 marks each.

Mark:
(m%mms)
1. forslt 0TS firer & frmfafiaa sram 4 dise s qon fewle % @l

mmm@waﬁaﬁwmmmw
) TR B & Jeq F AdgRoy

T) AT TMEY HeNuT

) T S H T HSRT

T) RS & Al & HENO, W/WW(WWW)

1. Pointout the Fire and Explosion hazards involved and the preventive measures 4 each
to be adopted for the following section of a paper mill :
a)  Storage of finished paper in rolls
b) Baled Bagasse Storage
¢)  Outdoor storage of waste paper
d) Storage of wood logs, Bamboo/chips storage (Pulp wood storage).

2, émaﬁwﬁgqﬁﬁaﬂﬁmﬁaﬁHWWaﬁmmm 12
e 1y Wl #t ==t S |

2. Describe the weaving preparatory and weaving process of textile mills and the 12
associated fire hazards.

3, @Wﬁmﬁﬁqﬁm@ﬁﬁ@@ﬁ%7mﬁﬁm% 12
TewqUl 39 gesy |
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What are the Fire hazards in Jute Manufacturing departments? Suggest the 12
important loss prevention measures.

Yol (%) o # AgE @ UHERY {6 g0 ol @ fRE seR wet 0 12
=1 Sl I fohaT e 8 | e ST # AN Gl 1 Seeid
HII |

Explain with the help of flow chart how the black tea is manufactured from =~ 12
green leaves. Mention the hazards in each section.

wied fifr qun 99 $adt & ey A Ffafed f SeaT wal &

3T g HIT (9T o 4 )
) oraftafq dedl @@t

i) wehar Hae @R

ii) ITERY YSRUT Gadt wR

Identify following fire exposure hazards in respect of Cotton Ginning & Press 4 each
Factory.

1)  Location Hazards

i)  Process Hazards

i) Warehouse storage Hazards

T St % Frfafan sEml & o @ad @ o SR

(&g ) ;- | (I & 4 )
) fouw aramE wg

) R T

) afegT qur &

T) BEglch WIS

Discuss the fire hazards in following sections of Engineering Industries (Any 4 each
Three) :-

a) Special Atmosphere Furnace

b)  Vacuum Furnace

¢) Welding & Cutting

d) Hydraulic Fluid




10.

10.

3 v AG -51
TR Hiea e wie § dhig off wad &1 seaw R gu 12
3T B § F9E U W Fifw |

Enumerate the Fire hazards in continuous solvent Extraction plant also mention 12
the suitable loss prevention measures.

: (IS & 4 37%)
RIS ST 3 & e = & A el 9w ud s

S AT YR IUE vl FT

) 3He sTafafd @ wEw

i) e el vY feweT aur fwfor et et |

iii) FPRH T AT Sl W aget fefar & fow |

Enumerate the safety measures that must be considered and alsotobe adopted 4 each
for the control Room of a hydrocarbon processing industry.

D) Selection of its location.

i) Design and construction features for procedural aspects.

i) For increasing dependence on computers and remote controls.

wvmﬁﬁmm‘ﬁ@ﬁmm‘wml 12
Write short notes on Hazards in static electriéity in Rubber industry. 12
(978% % 6 3()

3) ugiferm R qen Ifma wizg @ o ffe s &
A S W 3h R F g9t FRT |
q) ERSIHEA MAET T F WRR U ToRR Su’ ¥ 1 ER |

a) Name the different products obtained from Petroleum Refinery and 6 each
Petrochemical plants and their use. '

b)  Mention Fire hazards in Flare and Flare stacks in hydrocarbon processing
industries. ‘
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MAY, 2010 .
T 31T e
ASSOCIATESHIP EXAMINATION
GENERAL FIRE HAZARDS
Y : 3 6 | [ 3fa @ 100
Time: 3 Hours] [Total Marks : 100
TRl otte woel o St RRTT | werw wosr & 16 3ies § e T stfrard s &

I Aoty Yy 12 JfTm R E |
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

1. ¥7) T a1 WAt Tl H YO & B: ILTEI A §C GHR | 12
q) A A FeAT FRO & ST Ay ¥ G R o AR of wR

@ﬁ%’,ﬁq@@:aﬁﬁ@?ﬁ\%—ﬁwﬁaﬁﬁ%w 4

IgTEOT i |
1. a) Explainthe originating and contributory hazards with six examples. 12
b)  ‘Besides originating and contributory causes, there are other hazards which 4
result in further losses which are directly due to fire’ ~ Give four examples
of these types of losses.

2. oA o fomfor o SR @ IR o wedl & o F 9h9 f == w12

2. Discuss in brief the Fire Hazard associated with types of construction of 12
Buildings.

3. TH-HEMMT A9 CR-TRART TRy (q-UERER afwe) § 0 12
AW & Ta W K YR FEHE fRar ST g @ 2

3. How fire hazards can be controlled in air conditioning and air-circulating ducts? 12
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it & W dRm frwfird fafEg (T F 6 %)
3r) s '

)
)

gt T Vet e
Thee gl dar

~ Write short notes on (any two) - ~ 6each

] ’
b)

C)

3)

Drenchers .
Double Fire Proof doors
Perfect party wall -

(TS & 6 )

et Argiherafn deget & Uelt o fardwanen =t v FfTg S
faftrd &9 9 ©U9 8 e &t AR Yohd Fl 8 |

T) st T8 IR 3T & AW TAET S % QA 28 Aafes e

b)

3)
)

a)
b)

)

)

A & T TS § IS TR H I HIWY |

Identify eight features in any manufacturing concern which invariably 6 each
indicate bad housekeeping. :

Name any four industries which generate hazardous trade waste and

state the hazards associated with each.

footelt St 3T WM & Tel SR B WE HNT | (Wl & 6 i)
“forerelt % TETAN | o Tl 8 W U diw feweh fafew

Explain the basic causes of Electrical Fire. 6 each
Write notes on “Misuse of Electricity causes Fire.”

(TS F 6 3h)
W SERel At &6 § i IURE & WAl @ WM &
faw o9 wedl & ome W fooy eae fean sier =fey, S
e W | |
FITA % U W @d: @ & 92 & AT 33T I It feegt A
TR S W YIS ST |
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a) Elaborate the special attention that should be implemented for reducing 6 each
Fire Exposure hazards in areas where hazardous processes are carried
on.
b) Enumerate any four precautionary measures to reduce spontaneous heating
of coal stacks.

WW@W%WW'Wﬁ%ﬁWWﬁ 12
T == HIfT |

Discuss the difficulties in Extinguishing Fire due to nature of the hazardous 12
materials.
frafefed w dfrw feufirat fafay (I & 6 3i)

371) uaeruy
q) 2% Oty @1 Foem

Write short notes on: 6 each
a)  Supervision
b) Disposal of Trade waste

(TF & 4 )
frafafad o deof & daftra a1 @il & Ieoie e (feedl 9 &
IW EfE) -
) TKA faw
¥) 7RfET fiey
) © uf<T
T) afesT qur sy

Point out the associated fire hazards in relation to (answer any three) :- 4 each
a) SilentRisks

b)  Grinding Mills

¢) Spray Painting

d) Welding and Cutting
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MAY, 2010 S .
AR ofiur iR
ASSOCIATESHIP EXAMINATION
FIRE INSURANCE UNDERWRITING
|qUT : 36 . [Fe 3w : 100
Time: 3 Hours] : [Total Marks : 100
ferdl arrs wwAl & Se AT | wmm%s 16 ster ¥ R g sifevamd T &

3= Tt U U 12 A H T
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each. '

' - Marks
| Fe ¥ 39 A i ww a G e § | 9 W g 16

gl wd el Bt 3fd w9 ¥ G| T TRa g | %S H 9
sraftafy W Afim TR &, 20,000 FT F 31 § 1 & vafafa
R AfEeH Hfrd @ & ,04% FUT 2 | 39 T & e
qiferd EsT aur QE i $ faewel @ Swe FiNT |

1. Aclienthas invested huge amount in industry. His intention is to cover property 16
'against all accidental losses and damages. Sum insured is above Rs. 10,000
crores in one of locations and probable maximum loss is above Rs. 1,054 crores
at one location. Suggest the smgle policy and explain the features of such a

policy.

2. Trufafes w dfra fewfirat fafae - (T & 4 3(h)
) ARG HEIT
¥) frrediewor & fam
Q) @d: GUESE 91

2. Write short notes on :- , 4 each
a) Terrorism cover ’
'b) Rules for cancellation
¢) Escalation clause




2 AG -54

iy o et ot ¥ ¥, & % o o Y W ATIE S 12
&dedl I IR § Wy FHf |

Explain in detail the duties of the insured on happening of a loss as per condition 12
no. 6 of Fire Insurance Policy.

w P feal fofaw 5 sy i dfe 3 @ R fead w12
ghm?

Write a comprehensive note on who will have the insurable interest in Fire 12
Insurance Contract.

GHART - (IE & 4 37)
&) T &t g aw

) T g gifed
9) T afed 9rg

Explain— 4 each
a) Loss of rent clause

b)  Special provisions of reinstatement value policy.
¢) Local Authority clause

iR e & sioria fer qrafmlt o e fem s & 2 12
Yot diferdlt & sfela sftmr uftr & frefoor &9 femr s 2 2 |

What are the properties covered under valued policies? How the sum insured 12
undervalued policy is decided? ’

37) Weq STEfy T R R vl W Seoiw Ffww | (TR 6 3)
q) WA T F fawg-awg & vl Hi |

a)  Give the special conditions for midterm cover 6 each
b) Describe the contents of proposal form.
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8. frofafea & 7e i) @y Fivw . (JF & 6 )

&) [ o 991 [WS 0o
¥) Y&Eeh 9 AR

8. Differentiate between :- 6 each
a) Reinstatement Value and Book Value
b) Proposer and Insured

9. frafafaa dfftaat o1 faega w9 fafaw - (Seteh T 1 3()
Expand the following abbreviations :- 1 each
a) adjg : b) appls
c) contg d) Clor
e) Detd ,  gds
g9 i h) spectn
) g » fir
k) abt ) Pol
10. §fY Eta & fafie sem = § 2 | 12
10. What are the different types of treaty reinsurances? 12
----- HHTE =----




0 bRt AGSS
’ it grfer (310) ftar

ASSOCIATESHIP EXAMINATION
CONSEQUENTIAL LOSS (FIRE) INSURANCE

wHE ;3 6 ] (& 3 : 100
Time: 3 Hours] ' [Total Marks : 100
ﬁw@muﬁ%waﬁmlmm%w 3t & feneg ug rfrard T €1
AT AN TRAF U 12 R F E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. Marks
1. FofafEd gl & R W Te H < TR H T I 16
EO
Eﬁ'q'[ Il‘FQT Q0,00,000
faa o9, "ehel oY, Sifd Heohel Y9N R4,00,000
e ZHefa | | ¥Y4,00,000
gfegft srafy (33 WEAT) F S AR Y4,00,000
e ZHsTaX §0,00,000
i & ®. ,00,000 fq@H -
&, 0,00,000 mzﬁaﬁmaﬁf‘crgaﬂ
i @emfr TR § Fed §%,000
1. Work out the claim amount payable based on the following data: 16
’ Rs.
Sum insured ; 10,00,000
Net Profit, Gross Profit, Insured Standing Charges - 15,00,000
Standard Turnover 45,00,000
Turnover during Indemnity Period (12 months) 25,00,000
Annual Turnover 60,00,000

Additional expenditurg Rs 2,00,000/- which earned a
turnover of Rs. 10,00,000/-
Savings in Insured Standing Charges 64,000
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(I3 & 4 37F)

qﬁmgﬁm%wh frafafea feafadl § s oftr foe /v
fafer @t vl @ 2
31) THAIR fafuior & sfaia
q) ‘TR MEN W
H) ‘IR SR % b HE § ?
Under consequential loss policy, how is the sum insured fixed 4 each
a)  Under turnover specification

b) On ‘Difference’ basis
¢) What are the advantages of ‘difference basis’

qRuTTHt gif diferst & Siaia s T w6 fauafor s g9 feT vea 12
@ e | T S g ?

What are the factors taken into consideration while fixing a Sum Insured under 12
a Consequential Loss Policy?

gt gif diferet & sl Qoderel 510 STaRR T 81 SR & 12
SR T GO FIST |

Describe the process of loss assessment adopted by surveyors under 12
consequential loss policy.

mmmﬁwmwﬁmmaﬁ%m 12
H == HIT | )

Discuss the purpose of incorporating Material Damage Proviso on the 12
Consequential Loss Policy.

wﬁﬁqﬁwﬁmﬁaﬁzﬁmm%m 31T%1TIET EIRILE] 12
e YR Ft R B 2

Explain how the ‘Basis rate’ is arrived at under consequentlal loss insurance 12
policy. :
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7. wfomh @iy iR 39 T o § SR 9 e e w12
it fepar S @ 2

7. Which are the various items of information called for in the proposal form for 12
the Consequential Loss Policy?

8. 1) ITRWH & WY GuET & el y9r qur efgdaeia TR & 4
i< o SR B & ?
q) Wi R TR # 9 S 9O S9ERG & o geetE 0 8
A e ?

8. a) Explain, with examples, the differences between standing charges and 4
variable charges.
b) What precautions have to be adopted by insured in selecting insured 8
Standing Charges?

(FH H 4 3(F)
9. fmfafea Rifa & siala a1 &1 enehe it I99 319 3974
TRl # H9 g & ?
H) I Wi
9) B AU &g <@ |
W) e famit § SRR & &, S was § o o S @
e 8 |

9. How will you solve the problems encountered while assessmg the loss under 4each
the following circumstances?
a) Accumulated stocks
b)  Claims for small interruptions A
¢) Busingss carried in more departments eachihaving different Rate of
Gross Profits. '

10. wm@w@’ﬁﬁﬁmﬁmmmmmqﬁw 12
giferdt & el anfes® SR @ F o 8 @ e |
TG e 8 ?
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10. Explain fully how the application of adjustment clause in the specification 12
helps in calculating the loss to arrive at a true indemnity under the policy.
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’ i sfte g

ASSOCIATESHIP EXAMINATION
FIRE INSURANCE CLAIMS

WHY : 36 ] [&eT 3 : 100

Time: 3 Hours] [Total Marks : 100

ol arre Wl & e iR | worw wee & 16 3f § Reeg T arfrard Tl ) o
ARt URFE AT 12 AHHE |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

o N N . . Marks
I Wl o el W I A gU 99 RUE F onfya ferel &1 0 16
3G HIWT |
1. State the duties of the surveyor and details expected in Survey Report. 16
2. Irer Wil & sfela ey @ 8 § 2 12
2. What are Special Provisions under Floating Policy? 12
3. 3y & ¥ Weifya fafed widl @ SeoiE SR | 12
3. Narrate the implied conditions related to Fire Insurance. 12
4. A dferdt & W AR I I ROPi q@ AT § 2 & 12
H TH TRV < Y 39 FHART |
4. What are two important ingredients in the definition of ‘Fire’ under a Fire 12
Policy? Explain by giving one example in each case.
5. fafafad awett & wee @ @ i (¥ & 6 37eh)
H) AEFA 91

) T WSl 9m
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5. Explain importance of the following Clauses: 6 each
a) Proximate Clause :
b) Local Authority Clause.

(I & 6 37)
6. ) B Y UCH Wieaw & oA FI JAAT A § ? IR I |
) Hicas &t fat &t W fafet s @ 2

6. a) Whatarethe factors influencing value of the Salvage — Give Examples. 6 each
b) What are the usual methods of sale of salvage

7. ATy diferdt & Id 9. © & FAid YA & AUHR & gy i fowr 12

T Wy R |

7.  Explain in detail provisions of condition No. 7 of the fire policy i.e. Right of 12
Entry.

8. Trfefed & & sidw @ =T - (5% % 6 i)

) UF® 991 SHHE T
i) aRfear qun wfaffua

8. Differentiate between :- 6 each
1)  Standard and Non Standard Claims
i) Warranties and representations.

9. gyl & i & e sl & fawandT gk 2 | - feem A 12

9.  Extent of indemnity is subject to two main limitations - Enumerate. 12

10. @fir uifereht & sfarfa “fergeita SifEdl” ot e ferdlvamd = @t 82 12

10. Whatare the special features of “Electrical Risks” exclusions under fire policy? 12




o, wifmehuaim  AGST
’ 31 3 aforredt grfr s

ASSOCIATESHIP EXAMINATION
FIRE & CONSEQUENTIAL LOSS INSURANCE
T ;36 [ 3t : 100
Time: 3 Hours] [Total Marks : 100
TRl 3TTe UvHT o St RTT | W wvr o 16 2ik & foig g stframdd 1t €1
IOt URH U 12w K T |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. 3y i e & dnees § wfte Ry o e fafie sewt 16
& Fffetul W == ST |
1. Discuss the classifications of various factors that enter into underwriting of Fire 16
Insurance portfolio.
(TR F 3 )

2. 3ifh ot & sidvia fwfafen gmf & ded & wem & 9= gl
gifergfet a1 s W A 8 2

) qaq

q) A 9 Tl
) TR, e qur feleTg
T Wi

2. What s the basis of Indemnity provided under the Fire Insurance inrespectof 3 each
the following property?
a) Buildings
b) Machinery and accessories
¢) Fumniture, fixture and Fittings
d) Stocks

3. URUTH @I e deer & ofwid Tea Ui @ e fRivad 12
1 Bl 8 2
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What are the salient features of Revenue Policies under consequential loss 12
Insurance cover?

A difersdt & sAaria o @t feufa & daene & M adeg Ba d 2 12
What are the duties of the Insured in the event of a claim under a Fire Policy? 12

(5% & 6 31)
3) i) 9o g S & efafa ‘S &t 9Rwm R |
i) forT qRfafl &, Scured smur SwERh &ar & 2
q) H W el aRr gif S 3 sl 3 E At ¥ 2

a) 1  Define ‘Output’ under consequential loss insurance. 6 each
i)  Under which circumstances, output basis is useful?
b) Which losses are not payable under consequential Loss Insurances?

3ifeH &1 e R § SHer &t o 7 &) Sfe iR ST 12
ITferT 8 2

Which are the items of information required to be incorporated in the final Loss 12
Assessment Report?

ST od sifew Wit % starta e et srqahid aidt & 2 12

Which are the excluded losses under Industrial All Risks Policy? 12
frafafed ® dftra fewfirl foafleg - (T & 4 3F)
) ifers

) 3cY IEfy o
H) weg-37afy gequy

Write short notes on :- 4 each
a) Partial Insurance

b) Short Period Rates

¢) Mid-term cover




9.

0.

10.

10.

' 3 AG -57
fafsrr SR <t eflr o ol st Rt S | 12
Describe the different types of Fire extinguishment systems. 12

3) ﬁuﬁrﬁaaﬁawﬁﬁéqaﬁﬁrr@aﬁmaﬁm - (IE S 6 37%)
st Tfv (%) T (8.) T (W)

g« R,00,000 R,00,000 g,00,000
qsﬂ‘qﬂ §,00,000 ¥,00,000 ¥o,000
R‘TW 0,00,000 qR,00,000 2,330,000

%ol - R¢,00,000 Q¢,00,000 R,§0,000

q) STl gEAel iferdt & siarta Frafefad faeol @ e sm
e SifEm i T SN

ST uf¥n - ®. Y FE
Hfem &t - @ 3.00%,
it mifess siyord - 3.3 W
a)  Calculate the loss amount payable under the following details :- 6 each
S.I. (Rs.) Value (Rs.) Loss (Rs.)
Building 2,00,000 2,00,000 1,00,000
Machinery 6,00,000 4,00,000 40,000
Stocks 10,00,000 12,00,000 1,20,000
Total :-  18,00,000 18,00,000 2,60,000
b) Calculate Refund of Premium under Floater Declaration Policy with
following details :-
Sum Insured - Rs. 5 Crores
Premium Rate - @ 3.00 %o

AMD (Average Monthly Declarations) : 3.2 Crores.




ot wtmefm e AG01
ST B UL

ASSOCIATESHIP EXAMINATION
CARGO LOSS PREVENTION

g ;36 | [ ek : 100
Time: 3 Hours] [Total Marks : 100
ferll a1e woeil & et iR | werw we e o 16 3feh & Ry urg atforamed At
s afi yREw YT 12 3w H |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

1. U 9eUME # QU TN & e B § - FRONr aor deard 139 16
SYH HUE S Al Harsll H S Wy & |

1. Aporthas twokinds of customers - Cargo owners and Ship owners . 16

Distinguish between the services provided to them.

2. HON & IaRA-deH (Fefem) § witer fafie =won & smen & | 12
2. Explain the different stages involved in cargo handling . 12

3. THE & dol & T & U YER % ®Y § THES & 5 1 12
THIEAR-hEH & ?

3. What are the advantages and disadvantages of wooden boxes used as a type 12
of packing ?

(I & 4 37F)
4. Trofafed o SR & deruT # o faoy gaef=l &) stavasar -
IEdt @
) faser gord
i) HaRe e
ii) <= F e 19 ?
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What are the special precautions required for storage of following hazardous 4 each
cargoes :
)  Toxic Substances
ii) Corrosive substances
i) Gases under pressure

RO B YN H gE F FON B wg Q399 aq N H N e 12
faferei &1 urem e =iy 2 |

What are the methods to be followed during manual lifting and carrying of 12
cargo for cargo safety ?

wmm%ﬁmwﬁﬁéﬁmaﬁmm%mww 12
a8 ?

What are the common causes of loss or damage to cargo in railway 12
transportation ?

T SRIREl & U @ STnfad sl & Fe & e R e 12
S Wi Yo FrEfE g e At 2, SeE auiT # |

Describe the customs procedure to be completed by consignees for clearance 12
of imported cargo from port authorities.
%) WOR STl & WER W ol X | (57 % 6 37e)

@) A & § Hn @ D A R sl @ aeeE o 8, 3

U H |
a)  Describe the types of Maritime crimes. , 6 each
b)  Discuss the factors contributing to theft of cargo in port areas .

(9 & 6 ()
%) 7 WK # & U9 5 8 fafve adliet @ e @ T 2,

et ==l W |
T) 9 3 BEME F g F ok wWE & |




10.

10.

AG -61

3
a) Discuss the six different modes in which a ship may move, whileon 6 each
high seas.
b) Differentiate between theft and pilferage .
i feooht ferg

%) e & qer geror
) a9 & 7 § ‘S
M) AT i S T SvER @ stfire

Write short notes :

a) Water damage and corrosion

b) 'Sacks'as type of package.

¢) Role of International Union of Marine Insurance .

(FF & 4 37F)

" 4each
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MAY, 2010
aTfuTREes et
ASSOCIATESHIP EXAMINATION
COMMERCIAL GEOGRAPHY

1Y : 3 e ] [&e 3fe : 100
Time: 3 Hours] [Total Marks : 100
ot 31Te Uval o Seaw ST | wer w9 & 16 3iek € feheg T Stfvamd Tt %
T AW U UYT 12 FHE |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. 39 Tgcl 5 Forell STeTer bl sfeumg # WAy ek TR ST i STHfd 16

e, 39 BN & FWH @ &8 @RS % GY GIR @Al 9S8 |
FEUME BISA & Uedd ol &S & T g U & WY TR @1 ggdl
2 |

3 e o favd § Hey § Sa gu S Hee que|

1. Master of the vessel has to be ready with several documents before the vessel 16
is allowed to enter and berth and also be ready with another set of documents
before leaving the harbour.
Briefly explain the documents and their importance.

(I & 2 3h)
2. frofofed awgsll ® ded qo7 SaRd T9Y SiF ¥ TR 99 3T § S
1 Gt s g § 2
i) TYH i) Bt
i) STl I WfRd YE dd v) dead (WH-E)
v) SN IR/l U vi) Her ?

2. What are the hazards and precautions to be taken when loading and unloading 2 each

the following commodities.
1) Sulphur i)  Tumings
i) Clean oil incl vegetable oils iv) Latex

v) Fineores vi) Coal
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3. frafafad & fawafa &9 fod - (I & 1 37)

Expand the following : 1 each

a) CCS b) COD ¢ EDI

d FIATA e ICD ) OECD

® UNCTAD h TDA D) CIP

) CFR k) VTMS ) MMTG

(FF & 6 3)
4. &) I I & AW Fa 5 IR WSHR 7 T frata & o g
g1

T) o (|V) FON ¥ S g wEe enwerd @@ § 2

4. a) Name the items which are identified by Govt. of India for intensive export. 6 each
b) What are the General hazards involved in respect of Bulk Cargo.

5. frofafea il & s@f o auf &t - (3% o 6 3%)
&) T e v wie
T) foftr wie

5. Describe the functions of the following intermediaries : 6 each

a) Clearing and forwarding Agents.
b)  Shipping Agents.

6. T e W Tl (e 4 3iF)
&) Wb SeUE
§) T AR &
) AER (dU) dTTME

6. Discuss the significance of : 4 each
a) Free ports
b) Free trade zones
¢) Entrepot ports.




10.

10.

3 AG -62
(T o 4 3h)
frrufeilas dewmel &t wimifee feafa, S gon, o=l &t g qon
aﬁwﬁ-r@aﬁa@wm@w%:
%) fovmEr g
g) femge
M) fuEE ?

What are geographical locations, port conditions, facilities and major cargo 4 each
handled at following ports :-

a) Visakhapatnam

b) Singapore

¢) Pipavav

"Nk G QAT A I TAC W Al % U §eUTE § W ah 12
& & AT 9 TR A ST F &7 T AT A A

"Fright is the sum payable by the shipper to the shipowner or his agent for the 12
carriage of goods from one port to another" Explain this statement .

TR A A A | AR F A R wH W E 2 W e 12
ACH-T & o9 H q&F SR T |

Explain the term "Charter". What are the different types of charter. State the 12
main difference between a charter and a Bill of Lading .

e feopoht fod (57 & 4 3i)
) SFIEr S IR

i) g # TEe el fu

i) forer o @ Wt At

Write short notes : 4each

1)  Latitude and Longitude
i) Coral Rays and Islands
i) Worlds Major Sea Routes.
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ASSOCIATESHIP EXAMINATION
MARINE CLAUSES

T : 3 6 ] [T 37 : 100
Time: 3 Hours] [Total Marks : 100
Wmuﬁéawaﬁﬁrqlmm%m 3w ¢ ToReg g arforamd s ff 1
AT URAFH T 12 F F T |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. Marks
1. 3wy # (FAF F 4 )

%) fauiy offmr afq oo fords yuR |

@) SR (379 39 §) gur g ST el & ded SifeeT |
) Gel e qur g e |

) aﬁwﬁwﬁ%m%mwn

1. Distinguish between 4 each
a) Particular Average & Particular Charges.
b) ‘Jettison’(per-se) & Jettison under General Average
¢) Open Policy & Open Cover
d) Rejection Insurance & Sellers Interest Contingency Cover.

2. SRUT gigq fufafad & sw e . (IAF 4 37F)
%) e HRIT [uew F@NT R0.00.c9 & d8d dfd T
TGS To & HRUT 7 & 9t & g9 S | WiAF HY e
T o A % SR Y geTd | S Ui & SN F g
=g ARl § 7 8 | 79 AW § sfiurehdl @ @2 SR St
272
) IE. W . (Q)wmmm(mﬁ)%m
ST He & FA-Toll T Teh RA0T S GRT o § g
T A fohe] 9% qES % 9 T, el 39 AW WA | g &
UM W &SI off, TR o1 a8t &k T8l Ui | g § g
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SATIRT H H R & sifafis IR S3H 9 | R dwmehdl

S & T SRR § 2
T) TH SR STeR & S e R fued Tt R0.00.40

% TEd g3 ? AU USTIUhE & e AR IYH Gifere %

fRferT firR (Srs-wme) o/ & sfavia emafa § | @ moet

Tehe & el YT AT, T gHeae iy fier afir @

ST @ | 9 g aify diferdt & il eraRa @ 2

2. Givereasoned answers to the following 4 each

a)  Arising outof a collision, a Fishing Boat insured subject to Institute Fishing
Vessels Clauses 20-07-1987, sank in Port waters. The Owner was asked
to remove the wreck. He has claimed wreck removal expenses from his
Insurer. What is the liability of the Insurer in this case?

b) A consignment of Motor spare parts shipped from Germany to Mumbai,
insured under I.C.C. (A) and Institute Strikes clause (Cargo), was over-
carried to Dubai and was discharged there. The Vessel did not call at
Mumbai Port because it was strike-bound. The consignees incurred extra
charges to have the consignment forwarded from Dubai to Mumbai. Are
Insurers liable for these charges?

c) AFishing trawler is insured subject to Institute Fishing Vessels Clauses
20-07-1987 and fishing nets and appliances are covered by the Fishing
Gear clause of the Policy. The Fishing gear is accidentally damaged when
the fishing nets are hauled in. Is this loss covered under the Policy?

3. 8. 31 ©l e 2.90.¢3 i feusdiiey (Ffaawun) aret (am 29) 12
& 30T | T4 & |

3. Discuss the purpose of Disbursement Warranty (Clause 21) of the L. T. C. 12
Hulls 01-10-1983.

4. F) 3feege FAfEHyE wolls % qed o WauE € ? 9
) 59 YR Ft 5w et & g a8 eitst an] fear s @ 2 3
g Ff ?
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a) Whatare the provisions of Institute Classification Clause.
b) Why and for what type of Marine Policy is this clause applied?

9
3

(Il & 6 )

%) ISR aR FaleS (FN) F Sidid S & Sifaw safe &
g7

T) e TR wiNy (FR) & ald @b @ ey smafa
A ?

a) What are the risks covered under the Institute War Clauses (Cargo) ?
b) What are the risks covered under the Institute Strikes Clauses (Cargo) ?

‘At difafedl & wmaee & o= R T I #® SRR 8, 3
i < aRfel, s Ui, TRef, fFREW qo godied & STTER
& geof o L |

Discuss the provisions of “Annual Policies” with reference to whom they are
issued, Warranties under them, Sum Insured, Re-instatement, Cancellation and
Basis of Valuation.

6 each

12

12

(FAF & 3 3F)

e TRy FileS he ¢.20.¢3 & Bamel § fufafad & ar &
Y # Fard -

%) e (ShereE)

q) gug & 8

) §4Y g

¥) gfagfd &t @

In reference to Institute Time Clauses Freight 01-10-1983, state in brief the
following :-

a) Franchise

b) LossofTime

¢) Total Loss

d) Measure of Indemnity

3 each




10.

10.

4 AG -63
(TS & 2 37F)
T o Frafefiad % siaria Sfaw o yEa R R A S
%) foew dgrer Sifem s
g) 99 BHA ST
) RS BT $5F A (T)
¥) e dwa W F (fafee deew & sigw)
¥) ek wive We wes
®) IReegT Tow AT wilSS

Mention the point of Attachment of risk under :- 2 each
a)  Special Storage Risks Insurance

b) Tea Crop Insurance

¢) Institute Frozen Food Clauses (A)

d) Institute Natural Rubber Clauses (Excluding Liquid Latex)

e) Institute Frozen Meat Clauses

f) Institute Bulk Oil Clauses

$REST TEH FRATSIST B9 2.90.¢3 ¥ ofala ‘Rewd SR S aar 12
FTAT T (YR Q) F Y@ F7 qkT |

Describe the provisions of ‘Returns for Lay - up & cancellation’ Clause (Clause 12
22) under the Institute Time Clauses Hulls 01-10-1983.

s fragfer ford - (o % 4 5)
&) g SR YT At -

@) ey Mavm 0w wrs
T 3 WE 9 gt

Write short notes on :- 4 each
a) Pair and Set Clause.

b) Institute Malicious Damage Clause

¢) Limitper Location Clause
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MAY, 2010 .
T ST 3T
ASSOCIATESHIP EXAMINATION
MARINE UNDERWRITING
T 3 6 | . [ge ik : 100
Time: 3 Hours] [Total Marks : 100
et atre WAl & Seat AT | worm wos & 16 ik € foneg ag erferamd ol §1

I Ut YR YT 12 AWH H § |
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
tREETEED)
1. &) “@ﬁﬁm%mﬁamwmwﬁw
2 ==t |
) fufafgd & R | Rew-g aa <7 st &l o &
g : UH. &l §ER &
i oo : R00%¥
THR Lot
Hehel USiighd 2R QoYY A
ClIERRURY] : ®, R§,00,00,000
MR &3 ;e 1 g o a9
NG . e TR Tl 809 2.%0.¢3

Uy g4 & Sifaw &t W : 0.340%

oy B & areman

3 SfEH @ : ® 33 9fd =
FAHAAT : ®. ¥,40,000

1. a) "Valuation of ship is of prime importance to a Hull Underwriter." Discuss. 8 each
b) Calculate the 'Slip rate' and Premlum payable from the following :

Vessel : M. V. Sagar Kanya
Year/Built 1 2004
Type : General Cargo Vessel

GRT : 9045 tonne
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Sum Insured : Rs. 26,00,00,000
Trading area : East and West coasts of India
Conditions . Institute Time Clause Hulls 1.10.1983
Total Loss risk rate : 0.250%
Other than total Loss risk rate:  Rs.32 per tonne
Deductible : Rs.4,50,000

TS AU siAehal G S A o waar @ 2 e onfue w12
IYATET o IBYT H vl R |

Why does a Marine Underwriter seek re-insurance ? 12
Describe the utility and purpose of Excess of Loss Reinsurance .

(IS F 2 )
Wﬁmwﬁm%mﬁuﬁf@ﬁmmﬁmm
%) T FAlS ) ®IR FdlS
M) YfdET9d FAfsT ¥) IS Felis
) g AR Ve Fare ENRGERICSIE
State for what types of Cargo would the following clauses be used : 2 each
a) Picking Clause b) Cutting Clause
¢) Replacement Clause d) Garbling Clause
e) Pairand Set Clause fy Lable Clause.
(F® & 4 3()

T it @ 2fad § fFafafad % o @ 2 gt o sTeher
H -

%) S% W @l qid

F) SCUTE & 9ol § 9 o 9

M et g @ sifaw few

As an Underwriter, assess the risks involved in insurance of : 4 each
a) Deck Cargoes

b) Vessels plying in Port waters

¢) Tail-end of a transit.




3
“rvrerat “gfen wsr arel Uil & AR F iR Y § g wa 8
FHAT hl AN B |

"Underwriters remain seriously concerned regarding the ‘Flag of Convenience’
vessels” . Explain the statement.

T SIS 9IRel @ 6 98 AR & i F 19 Juvil & o u
el Wifert o | A U oA & fh g9 W T & e €
ST e W IR FB 1 T W PR o § el e
femmdht | 3afeiT 3Q SNuF TelE i TN B e o Tide W g
uiet & fore ST e S R g R S e |

Y 3 g s ST A g 3, Ik g @ 9e { SR
|

A shoe manufacturer desires to take an open policy for his despatches within
India. However, he anticipates that there may be some consignees who will
delay payment and others who will not be prompt in taking delivery at
destination. He, therefore, wants your suggestion to ensure protection for his
goods at destination for a few months. Briefly highlight the provisions of Insurance
cover that you will suggest to him.

dag & qard fir oE. . . wew aur o, . W@ g i A Hherd
IR AT U % Sl SiM o @il sTaid T ik | srqafsid
g ?

Give a summary of the losses included and excluded under the */; ths Collision
Liability Clause of the ITC - Hulls and IVC - Hulls.

TO-T8-3cqT ST Giferdt & stavia staRa dur svafsia sifEmt &1
I R |

Enumerate the risks covered and excluded under the Marine-cum-Erection
Insurance Policy.

AG -65

12

12

12

12

12

12

12

12




9.

10.

10.

4

frafafaa & siaia smawr &t e@fy gt ==l =

&) S IR FAwS (M)
Q@) e WrRI s (FR)

Discuss the Duration of cover under :
a) Institute War Clauses (Cargo)
b) Institute Strikes Clauses (Cargo)

G fewfir forg

&) 9N g enferer gt

@) Il & =R ¥ g g aarE
) ES S MeE e |

Write short notes on :-

a) Aggregate Excess of Loss Reinsurance
b) Fraudrelated to Chartering of vessels
¢) Lyods’Confidential Index

AG -65

(YA & 6 3F)

6 each

(TEF & 4 3F)

4 each
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE CLAIMS

AT : 3 He ] [t 3ie : 100
Time: 3 Hours] ' [Total Marks : 100
fonedl ame weml & SR AR | worm wv ¥ 16 m%mﬁaﬁaﬁqﬁ%l

FA AN TR UTT 12 H H E | :

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

L 0 S O T & TR S @ e ey G ‘37 g4 ST 8 3k M
SHh AT & & SR @ 1 U @ aﬁmﬂtaﬁqgaﬁtélthﬁ ar
F §o% U UT ‘T H Yo% S SeAT A & |
U A F. Yo AR, JUT [eAifhd & forw st @, S g gEe
SO 7 © | o oTe. 31, . gew .20.¢3 & HqER & ok s
I F, ¢ AR | U o . A . T (TR aaEae)
R.20.43 & STER T W Uil g0 ®. QR NG 9 . ¢ @

arks

& forg oft <fifa & 1
fraferfied gl 8t & -
Ga’ GE’
®. ®.
T qAT AN Sl & ¥0,00,000 90,00,000
ﬁmﬂc—m’(@ﬂﬁ) - gR3,00,000
Wﬁaﬁf §o,40,000 Q¢,00,000
\ Wﬁﬁﬁiﬁz ( {0,000 8Yy,o000
9 ‘37 & SR H TR
T TE FA F @Y §0,000 -
forell off i 3 o1t et Wifir T A @

9 ‘o7 & AR H arel st & sfafa g@t 5 frfor R
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Vessel ‘A’ collides with Vessel ‘B’ as a result of which Vessel ‘A’ sinks and 16

becomes a total loss. Vessel ‘B’ Sustains severe damage. Vessel ‘A’ is held
60% and Vessel ‘B’ 40% to blame. ‘
Vessel ‘A’ is insured for Rs. 40 lacs, so valued, which is its sound market value.
The Insurance is subject to ITC-Hulls 1-10-1983 with a deductible of Rs. 1
lac. Vessel ‘A’ is also covered by two policies for Rs. 12 lacs. and Rs. 8 lacs
under ITC Hulls Excess liabilities 1-10-1983. Following losses arise.

4 A’ ‘B ?

Rs. Rs.
Damage to hull and Machinery 40,00,000 - 70,00,000
Demurrage : , - 12,00,000
Cargo Damage 60,50,000 18,00,000
Injury to crew 80,000 75,000
Expenses for removing and
destroying the wrecks of ‘A’ ' 60,000 -

Neither vessel limits liability.
Work out the claims under the policies covering vessel ‘A’

Wﬁmﬁwmﬁmwmwm%m 12
for WA S STEvESaT B @ |

Explain in brief the documents required for processing ocean going vessels 12
claims.
frrafafaa amer § ar wiwrar & vl &t (AT F 4 3i%)

i) S HN e W afme orr ¥ odea @ |
i) ST SO foRl weraf qRie sy YROT SeUTR W IART T |
ii) SO TS R S el & st age 8 |

Write down the claims procedure in the following cases:- 4 each
)  Insured cargo arrives at destination in damaged condition.

i) Cargoislanded at an intermediate port of call or refuge.

i) Cargo arrives at destination subject to GA.

mqﬁﬁaﬁ@ﬁﬂé‘mﬁﬁﬁgﬁsaﬁWéwﬁwmw 12
T & @ ?
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Under which circumstances surveyors are appointed and what is the purpose
of Survey. '

. HIET & TH WY E. Yo,000 JUT Heifhd, & fow i & o

®. 20,000 maﬁag@aﬁmﬂﬁélaﬁﬁﬁmmwwqﬁ
&t TESRA @ | YO T e T GO e F. 4y, 000 § | Tehed
T TR [ F. ¥¥, 000 T | A TR &, 200 a9 Gy
[ 8 ®. Yoo, iferdt &1 afid g a1l seF afed qe S G
o Tq SifHa @ | ot e qen afdd e Siaid S 9 ueE &
qed T H IRHe W |

A consignment of goods is insured for Rs. 50,000 so valued and there is an
increased value insurance for Rs. 10,000. Goods are damaged by a peril insured
against. GASV of the consignment is 55,000. GADV is 44,000. Sale charges
Rs. 100 and Survey Fee Rs. 400. Increased value component of the policy is
subject to increased value Insurance clause. Calculate the claim payable under
the original policy and as the component covering increased value.

%) & & & fau siifes @1 & ded e ang T &
IR A H |
) ®. ¥o,000 Y Yeifhd & fau sifd wnferdi @ s/t woo
QAT (sedieh o Sie Tt o Sfgal Tt gf §) e & g
STETST FIU ASft T A & QN ey 9gd @O 8 T 3R Herh
% R & HROT HON A i ug | e W ggEn W Fmfdfed
et areft T .-
) FOK 5T ¥ ¥o WA wfema gi- ToERN Yo% |
i) {3 e F SBEMG F IWOT wo et wrdt T |
i) IAR S 99E Qo YAl o ¥ @ W |
et YA T T g e § T | ST Yook ®. Qo0 Hedd
T & v v & F ol gEi R sede 39 W e @ o |
-4 @ F aRee A i e o, @ @ (ah)
e o7E. &, . (W) a@r

12

12

12




4 AG -66
a) Explain with examples-the claim payable under partial loss for damaged 6
cargo.
b) 400 cases of cups (Each containing 50 pairs in boxes) insured for
Rs. 40,000 so valued were shipped to Sri Lanka from Mumbai. On the
voyage heavy weather was experienced and damage to cargo occurred,
consequent to leakage in the hold. On arrival following damages were
ascertained.

) 40 cases damaged by sea water — Depreciation 50% 2

i) In12 cases, pilferage was noticed and 50 boxes were found to be 2
missing, :

i) 10.cases were lost over board during discharge. 2

Rest of the cases were arrived in sound condition.

Survey Fees Rs. 100/-. Each box was invoiced at the same price and therefore
each case was of equal value.

Work out the claim payable if the insurance cover was an ICC B)orICC(C).

ST e’ | 1 A & 2 Ui, SN q97 9IS & Sfverh e 12
S AT & YR &I 98 § =Rer & |

What is meant by ““contributory values™*? Explain briefly the basis on which the 12
contributory values of ship, cargo and freight are computed.

ffefaa efal &t wfa guend aur 39 W orh fwoh ¥ (v & 4 3iF)
%) oA g

§) aredfas 99y g

) Yo 99 g

Explain the nature and comment on the following losses:- 4 each
a) Salvage Loss

b) Actual Total Loss

¢) Constructive Total Loss

| (IAF F 6 3P)
%) HeRTHISH ZRAIISTH 3 [EW T 231 3 & ded U sgHepd
YRae o & fWaiEr qor et s & 2
) U sgareEd! aRed Sares S sfde e @i wifafusm durd
T & qUT SR B B GE 3 w-ad @ § 2




10.

10.

5 AG -66
a) Whatare the responsibilities and liabilities of the Multimodal Transport 6 each
Operator under the Multimodal Transportation of Goods Act 1993?
b) What are the statutory limits of the monetary liability of the Multimodal

Transport Operator and what are the time limits for giving notice of loss to
them?

frufafaa T i femot fog - | (FEATF 4 3iF)
%) AWRSE gifar

q) qUTd 9 @ T g

T) ¥ROT S8 R Y

Write short notes on the following:i 4 each
a) Trade Losses '

b) Unrepaired Damage

¢) Expenses at Port of Refuge.
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE

g ;3 He ] [t i@ : 100
Time: 3 Hours] [Total Marks : 100
Rl a1e WAl & St AT | waT w9 ¥ 16 e 3 Tehmg o e = €1
AT AN URF UTT 12 AFHE |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1. T FON Sifew RN o qug s o S qor e afhn Mo

T@ AfeT 37T hid B | g qel @ e § TEd g gev o fafm
THER AT T I WAL THEH o aRH TR |

1. Nature of Cargo and its packing play an important role in the consideration of 16
a Cargorisk. Explain the different kinds of packing available, their advantages
and disadvantages considering the above facts.

2. ward & Fofafaa aifel smafa & stger =& - (TF % 1V2 3F)

) oE. O H T osger ‘Y styEr ‘O & Sfdd

&) S B IH & FWOT §E &

) HHSHA - SCUE W HITN i 3aqs

T) WS SIS E W & AN

¥) IIUE & GHY Gd W & HR H 99T g

T) difa o § W <8 & SR gg anfy e

®) ®@ 37 ¥ I -IdR S & HROT HEW A & arent &
i) oms. &Y. . W 9.90.¢3 & Il :

%) SCUTE & IYFWH 9 € § S & FHNOT U Sl B areft

afd

) TEE-IWE H FRAE & GO gHeAr § FRON FI B Al
BT/ |
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State whether the following losses are covered or not : 1% each

)]

&)

)

b)

FHASH TR (/%) STt ‘A % siaa swafa SifeH, gl 12
gy, qor STET F 31afy F gl & |

Under ICC‘A’or ‘B’or ‘C’:

a) Loss attributed to earthquake.

b) Discharge of cargo at Port of Distress

¢) Theftof cargo by pirates _

d) Total loss of cargo lost overboard during discharge.
¢) Delay by an insured peril has caused loss/damage
f)  Damage to cargo caused by rough handling.

Under ITC Hulls 1-10-1983 :

g Damage to vessel due to contact with harbor equipments.

h) Loss/damage to cargo caused by accidents in loading, unloading
operations.

(4TS & 6 3h)
Wﬁmmmﬂaﬂmﬁﬁﬁ%fmm@. ugeel
& B e ], 3% 98 # wuemd |

T = AR #
i) ST e
i) g & i ?

Explain briefly the six aspects necessary for an entitlement to a General 6 each
Average contribution.

What is meant by :

)  Contributory Values

i)  Amounts Made Good.

S g @ gEileg B R W e, . @ g 9.90.¢3 F 8

HEHAIT TS N &Yl & |

fert BTl W e weilsl @ 78 e 8 2 4
List the losses to which the Deductible clause of ITC Hulls 1-10-1983 8
applies.

To which losses the Deductible clause does not apply? 4




10.

3 AG -67
Describe the Risks covered, Risks excluded and duration of cover under - - 12
Inland Transit (Rail/Road) clause ‘B’.

m%mﬁﬁm%ﬁm%mﬁmaﬁ 12
%) HON W G g wiferdt
9) 8 W 999 e

Explain the effects of Un-seaworthiness of a Vessel as regards : 12
a) Voyage Policy on Cargo
b) Time Policy on Hull

&) IUNT O ANR & e 709 i 0 v g 2 (TS F 6 30H)
@) WA % RV % GHA AT 4 GG Sharel @ o s #

YT Yt & ?

a) Why Marine Insurance is essential to trade and commerce? 6 each
b) Which are the documents required by bankers when making an advance
against shipment of goods?

e T AT T W | A1 &N 9 g fam e § 2 12
What are the General Regulations applicable to duty and increased value 12
Insurance?

T& UG fEm & e o fulor &) o9g e sesl R e 12
T T S @ ? A i @ sl weol @ S g o
T Mg W fear s 8 2

‘Which are the factors being considered to decide the rate for a hull risk? How 12

to accept arisk when the physical hazards reveal adverse features?

Hfere feuqoft forg .- (F% 3 4 )
%) Uiqees qor AR §ive

) fawera qur (fie) fea

M) G99 TG AAA-BEAT AT |
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10. Write short notes : 4 each
)  Bottomry and Respondentia bonds.
i) Defeasible and contingent Interest
i) Picking and Garbling Clause
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ASSOCIATESHIP EXAMINATION
AGRICULTURAL INSURANCE

U ; 3 He | [Het 3 1(50
Time: 3 Hours] [Total Marks : 100
Terdil 31Ts Wit o I SR | worw v % 16 3teR § foreg wrg srfrard Wi €
LA uRwm U 12 3w S B |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry. 12 marks each.

Marks
1. ) T e & W% Q00¢ F WA & S TEF FHA AT SIS
(T T T ©H) & Sfauia siifte foram w2, forees feremor fom
AR € :
i1 c ot (fafa) AT
i) fo=m = T o i TRT ®. §o,000 T QYy,000
i) TEe fiftam ¢.R0% 4.4 0%
i) ®{® 2003 § 009 T
4 9 F YR W 3figd Tg@R Q800 Bl  R4oo fHay
| TR TR
v) @{% R00Yy ¥ 009 dF
3 @ & SER W A JgER 9300 Rl 300 fRAl
- BERSN TR
v) o &fagfd @ ¢0% Q0%
vi) @{% R00¢ F WA IWEF  g3%0 fel 00 FEAy
terEn BHRSR g
YU AR & SR T ;-
) S gN Befie for MU Hifem, @ 6

q) WIS <@ S RIS U HIT |
q) FHY gEeE & SR A g8y § fafew |




1.

2 AG 71
a)  Afarmer is insured under National Agricultural Insurance Scheme (NAIS)
during Kharif 2008 season, whose broad details are as follows :-

Parameter Chilly (irrigated)  Bajra

1)  Amountof loan availed and Rs. 60,000 Rs. 15,000
Sum Insured :

i)  Actuarial premium Rate 8.20% 5.50%

i) Average yield based on 5 years’ 1600 kg/ha 2500kg/ha
from Kharif 2003 to 2007

iv) Average yield based on 3 years’ 1900 kg/ha 2300 kg/ha
from Kharif 2005 to 2007

v)  Applicable Indemnity limit 80% 90%

vi)  Actual yield during kharif 2008 1290 kg/ha 2100kg/ha

Based on the above information, calculate the :

a) premium debited by the bank, and 6

b) Amount of claimreceived.

b)  Write briefly about agricultural resources.

R § GO S &l W gt S | 12
Discuss future of crop insurance in'India.. 12
(5 & 6 3)

37) T & AT W Y A GHI § I I8 o R S @ 7
q) aNa H ARG @ Tl & enffeer 39 e S # |

a)  Whatis castration of calves and why it is carried out. 6 each
b) How breeds of cattle are classified in India.

Hape ST A & W # ffdfad & avle @i ;. (5@ 33 39)
) I foRivar &

i) arET WER HA NI ST H 3TAT

iii)  SESTIAT

iv) HTeas
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Describe the following with reference to Poultry Insurance Scheme. , 3 each
1)  Good features discount

i)  Application of excess while admitting a claim

i) Applicability

iv) Salvage

. UEE Y S A o Sfaa st Q@T&'ﬁ &t ﬂﬁ?ﬂE dar 12
et = A § 2

What are the roles-and responsibilities of implementing agency under National 12
Agricultural Insurance Scheme?

(s 54 37)
Wﬁéﬁﬁmm%mﬁuﬁﬁaﬁ@@ﬁﬁﬁﬁhﬁ?m

Hiyw Rwfirt fafew

) GUS [ (37) I qA1 JHATL

) SRR gEeAT i

¥) Ued wEfhe s

T) W i SUS q9T STHHATI 3 e

Write short notes on.any three of followmg sections under Kisan Package 4 each
Insurance Policy:-
a) SectionI(a)Building and Contents
~b) Personal Accident Insurance
¢) Pedal Cycle Insurance
d) Farm produce and unprocessed gain insurance

Tl 1 W it fewforer fafey - (I & 4 37F)
) TRl W Seary & NE

ii) Wﬁaﬁﬁﬁm

i) TEfor & QT At &) Ao

v) T U E W H deEn & el & AWAN W 9
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Write short notes on any three of the following :- 4 each
)  Effectof climate on cattle
ii) Characteristics of Indian Agriculture
i) Obligations of non-life insurers in rural sector
iv) Broad uses of yield data in NAIS

frafafaa dRifadl § O fedt & & foeaRa &9 37 deg § auiq

F gy fafgu - ' (S % 2 37%)
Give expanded form.of any six with a short description:- 2 each
) WUy PACS

i) %&d & KVK

i) TR T3/ FAO

v) € 3R Th CRF

V) JWEE T USDA

V) THUG E T SFDA

vi) WA Sl AR 373 NDRI

Vi) TH 1 €t MPD

frafafaa & ¥98v & g SV - (T3 & 3 o)
) QAT

¥) HfH g oy diferdt & siata JamEfeT w9R

) SRIE w8

T) U TR Y & Iihiq S ¥ IF FREHI & TN

Describe following in brief : 3 each
a) Reinsurance :

b) Rewinding charges under Agricultural Pump Set Insurance Policy

¢) Operation Flood

d) Types of farmers eligible for Insurance under NAIS.



10.

10.

5
frafafad & @ fsl @7 & aR § 989 & =i S

3) vt S

d) Y =fad Shgl ofim

¥) S AT gHeAT ST
?) IRfioT safeRe gee wiferdt

Describe any three of following in brief:-
a) HutInsurance

b) Animal Driven Cart Insurance

¢) Janata Personal Accident Insurance
d) Gramin Personal Accident Policy

AG -71
(FTF & 4 3H)

4 each




tee wemtmee AGT2
’ - WeTEmr

ASSOCIATESHIP EXAMINATION
MOTOR INSURANCE |

T : 3 6 | ‘ [ 3ia : 100
Time: 3 Hours] [Total Marks : 100
TRl 3TTe Ui o SR ST | werd w99 & 16 3tk € TR g feramed =i €
I A TR UIT 12 HF T |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1, i e st o A GERR § g @ s 16

TS ST ST Hoh - HUTET gRI STGATE ST 1 3] Sl TE SISl

1. Indian General Insurers are improving their motor portfolio to make it a profitable 16
one. Explain the measures being adopted by the compames

2. ﬁaﬁwﬁam%mmm%mwﬁmﬁm 12
TEOT & gy W faer 9 == S |

2. Discuss in detail the provisions of Personal accident cover for owner Driver 12
under the private car motor policy.

3. Frolt T 93 S 3 shia s SRR e T AT R @ 12
e fewRR & faftm deie deeel W EEl S |

3. Discuss various technical aspects of any two major discounts which are generally 12
granted under private car package insurance .

4. 1) @M IAF 9T @ B TAREHAT S GhaT & ? (93 o 6 3i%)
¥) dmeRaiell H AR % faeg w @ 99E Sy § 2

4. a) Whocanprefer T.P, Claim? | 6 each
b) What are the defences available against negligence to the insurers.
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forgl W W dftr fewforef fofew . (I & 4 i)
) 9 W2 9 :
q) &HHR e

T) STIfad aigHl ol S
T) AR & TIH, THETH
) T U 3 R W AN

Write short notes (any ihree):— ‘ : 4 each
a) SunSetClause

b) Cover Note.

¢) . Insurance of imported vehicles

d) Hit&run

e) Settlement of MACT award

frraferfiae wiex diferh ol § & fenedl &) 1 g ferdivens?l & Seoi@
Hifera : (TS F 6 ()
3) faet |

T) eI

Y) 3EH

Write about the salient features of any two of the following motor policy 6 each
conditions :-

a) Cancellation

b) Arbitration

¢) Contribution

(IS & 6 37)
) e T (Y «fF) FoeE & Tmak ® afvfes aeeat &
e ® Mefienar < St @ - faeEer ST |
q) vordd 99H g R R ?

a) Cashloss settlement is generally preferred in case of commercial vehicles. ¢ each
Elaborate. '
b) What is Constructive Total Loss?




10.

3 AG -72.
e uiferdt & siania WY STdesi #41 § ? 12
What are the general exceptions under the motor policy? 12
. (T & 6 )
31) WX are SAfufTan & 9r Q¥§ F Sfaia WeX aed I e
Tl vey o @ 2

9) o9 5 g2 A g ?

a) Whatis compulsory T.P Insurance of Motor vehicle under section 146 of 6 each
M.V.Act?
b) Who are exempted?

W T SRS R Q.ou.R00¢ @ T g€ ot | L.¥.R0%0 A 12
5% et B & HRUT TS el i TeRaRt ¥ SHUE GHeAI il

2 | 39 gHe # dieet & U Sy w1 reR) Fe A ST @ | e W

3 @l ® 4,00,000 B | 7R F T Afy/E TW IHR B

w.
i) ﬁwﬁm(wm)aﬁaﬁ g0,000
iy fdg viee ™ &1 ¢,000
iy IR W RVH G=H & I T 24,000
v) ﬁ‘c'?rmz‘:v'r ¥o0,000
V) Iﬁr{m’é\q {,000
vi) éa_{@_‘f ' 30,000
vii) a?{“T@?’f 3,000
VIH)W ‘ 3,000
ix) TENRAEN & oY gieet &l g 40,000
x) U Fd & Hifelh R gl 4,000
xi) S - sifar Yoo

- Wifess 2,400
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10. A private car registered on 1-05-2008 meets with an accident on 1-04-2010 12
due to brake failure and collides with a compound wall of a hotel. In the process
one pet dog of one of the guests athotel dies. ID V of the vehicleis Rs. 5,00,000/-
The damage /Loss noticed as under:

Rs.

)  Damage to2 front Tyres (Total Loss) 10,000/-
i) - Wind shield glass broken 8,000/-
i) Music System Stolen from the car 15,000/-
iv) Metal Parts 40,000/-
v) Rubber Parts 8,000/-
vi) Labour Charges 30,000/-
vii) Towing Charges ‘ 3,000/-
vii) Salvage ' 3,000/-
ix) Claim by hotel for compound Wall ' 50,000/-
x) Claimbypetdogowner ’ 5,000/-
xi) Excess—Compulsory , 500/-
— Voluntary : 1,500/-
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ASSOCIATESHIP EXAMINATION
PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS

INSURANCE
uug : 3 6 | | [ 3@ : 100
Time: 3 Hours] [Total Marks : 100
ol 21Ts wo=t o SR RT | werm uv & 16 ik € g wg atfad i €1
T Aeft Ul Uy 12 Ak §

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. . Marks
1. AR ger amr & Heof o
&) SUESHl HI YETS T 8
¥) R fafor & wEeE g Sifedl & offeeT & STER & WE 4
&I |
) =afeira diferdt & Sfaiid Sueied we-3if @4l o 9uia Sy | 4
1. Inrespect of Personal Accident Insurance
a) Listoutthe exclusions 8
b) Explain the basis of classifications of risks; for rating purposes. 4
¢) Describe the free add-on benefits available under the Individual policy. 4
(TH & 6 3iF)
2. 3) 3 IRftafcEl aon vl & oo Fifwe, [ sidia wuw gifv
uifefeal St S S €

) W B difafidl S @ iy g9 9ol qoF @i gon | fRd
YR fopar ST 8 2

2. a) Explainthe circumstances and conditions under which first loss policies 6 each
are issued.
b) How rating of first loss policies are done in comparison to its full value?
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37) o S B ST T T SR U S 9 Y I T | 8

q) 3H SR & uife % sfwia S ¥ freaieor suere § 2 4

a) Mention the questions which usually found in a proposal form for money 3
insurance.

b) Which are the extensions available under this type of policy? 4

frafafea =t 7o favivarst &1 e $iT (ST F 4 3F)

37) Hfeee dm § SH/AeT H Hoheq
q) W STEATCHIRT

) ygfa =g A fawaien

Narrate the special features of the following 4 each
a) Bonus/malus concept in medi-claim Insurance.

b) Domiciliary Hospitalisation

¢) Maternity expenses benefit extension.

T difert % farid Sueed e deeml e el s W@ 12
foeiaarell & @y wifsg |

Describe the various covers offered by a house holder’s policy and its special 12
features.

faewr amn i oiferdt & fafie @i & siaila Suee Gt &1 aulq 12
ST |

Indicate the coverage under the different sections of the Videsh Yatra Mitra 12
Policy.
frofeafad § 9 fasdt @7 W dfw feufiri fafau . (I & 4 3ih)

37) ufes T iferdt
¥) ey faforear =R Uit & stavfa sTaasty
W) Hyurd simr <6 & o fuem 3 SR g 33T T e |

T) TN AfgeT weany AT & ol SueTed freariie
T) Hfeem difedt ¥ qua 1Al e |
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7. Write short notes on (Any three) of the following :- 4 each
a) BhavishyaArogya Policy
b) Exclusions under cancer medical expenses policy.
¢) Stepsundertaken by an insured person for prompt settlement of burglary
Insurance claim.
d) Extension available under Raj Rajeshwari Mahila Kalyan Yojna.
e) Free additional benefit in Medi-claim Policy.

8. fousaan RuSt diwr & Sidvia S &1 Sarelt fafirs SR w6t uifafal 12
H ICG HITT T AEH Bl T8 § TAF & 9l Bl o= i |

8. Mention types of policies issued in Fidelity Guarantee Insurance and describe 12
the utility of each to a client.

0. Hrd gfayfd tmr ¥ Fwfafad wd ffed &t & - 12
1) e S| i
i) Afafs sfar afy
i) ST U 1 G
iv) qaeaTdl EET
v) S
T T H ool HIT |

9. TheBanker’s Indemnity Insurance contains following terms:- 12
1 Basic Sum Insured. ,
i)  Additional Sum Insured.
i) Reinstatement of Sum Insured
iv) Retroactive cover
v) Excess
Specify their significance.

(e & 3 3()
10. 37) U Bfggay uiferdt il sfimr T &. 2,00, 000 & foI€ S foman
T o | ifert wF SR ast o fae faer R g & e foRe
T | T W@ SiE S Uiy &t e S |
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)
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s faeyr gmn fi wiferdiane aReea $t ggdret & SRl Sied!
¥ Sfeerfiad et & fafy & 9ra T8« o | 39 6y &
3N 98 SR & T aur 39 fafeear § US $ 300 &8 FATE |
T@ & < AT A B ?

U v o difer @ fofafaa dimell & o S feRar e
) O 98T UREeT €T - ®. y,00,000
i) S ANE A - B 3,00,000,00 (T FP)

U & a8 STERE & ST § I qe Y 9 F INE
U S S Bt © | gueh R o s @l S S @ | g
T TR H TS HHUN B I uId €, 99 o7 & 98 & &
|ir T o | VAR U S QIar e ST |

TS A HI &, 3,00,000 % ARKIT ol Giferel ST & 78
off | diferet & Siaia TR SIfid Rl A9 yo% A1 | UF
gl % FRUT ITH! Gog & T | 3Tk & Whel 9 AT aree

g | 2F <@ H TUFT FIFT |

A medi-claim policy was issued for sum insured of Rs. 2,00,000/- The
policy was renewed for four years without any claim. Calculate the amount
of cost of health check payable.

A Videsh Yatra Mitra policy holder could not return to India on schedule
date of return mentioned in the policy due to transport strike. During this
period he fell sick and had to incur medical expenses of US $ 300. What
would be the amount of claim payable.

A money insurance policy was issued with the following limits.

i) Percarryingtransitlimit - Rs. 5,00,000

ii)  Estimated annual carrying - Rs. 2,00,00,000 (2 Crore)

A robbery took place while the money was in transit between Insured's
office and Bank. The insured lodged police complaint immediately. The
police found involvement of one of employee in robbery who was entrusted
with carrying of money. Discuss the liability of Insurance Company.
APersonal Accident Policy was issued for Rs. 2,00,000 . He had earned
cumnulative bonus of 50% in the policy. He met with an accident and died.
He has two school going children. Calculate the amount of claim payable.

3 each
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ASSOCIATESHIP EXAMINATION

LIABILITY INSURANCE
HHY ;3 6 ] [t 3@ : 100
Time: 3 Hours] [Total Marks : 100
Terd 218 Yot o I NG | wam wvT & 16 m%ﬁaagarﬁaﬁmfr%l
I AN URH YT 12 AH H B |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. Wgaﬂamafqﬁwaﬁams%m ol % FOT @ 16

E FE W At SfeTe Wi ¥ fu e st b
freifta o 7T STER qoTas & e w0 % e ert & 1
T aE it s vl fafr i nee @ #itvg |

1. According to section 3 of Workmen’s Compensation Act: “The employer is 16
liable to pay compensation laid down in the Act if personal injury is caused to
workmen by accident arising out of and in the course of employment.” Explain
this provision with the help of case law.

2. IR A A F AT FOGR ¥G WdSF g Ao B 12
T i ST STHeERT 1 qul ST |

2. Enumerate the information which is submitted by the proposer to the underwriter 12
for acceptance of proposal under Products Liability Insurance.

3. WSl oFer S Ui, 2R%¢ & WEUFl & ERE (I % 6 3i)
37) V& & F&H fHAT S
9) fErd im ¥ ge
& def o i |
3. Outline the provisions of Public Liability Insurance Act, 1991 inrespect of 6 each

a) Award of relief
b)  Exemptions from compulsory insurance.
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s egar difed) (efenfirs Sifew) & sfafa
37) w9 Hifd 4
¥) WU & U g uifaredl & Sqey e
& SMYR W AGfad gl & Seoid ST |

Mention the liabilities excluded under public liability policy (Industrial Risks)
on grounds of :
a) PublicPolicy 4

b) Other policies are available for coverage. 8
gferall it e HiNY | 12
ferdls aferall e W R vt T | % S T iR 372

Define Damages. Describe special Damages and General Damages. What is 12
the Distinction between the two?

glaed afaqfd diferst & ofarla sTqesii @t == SIS | 12
Describe exclusions under Doctors Indemnity Policy. 12
I HIT :-

) st e it (sitenfies Sifgw) & efaia sifafi sfiftem 3
W 3IuS WU & forearisn |

¥) 39 uifeel & il Suerey Sifirem § &2 | 4
Mention :-
a) Extensions of coverage with extra premium under public liability policy 8
(industrial risks)
b) Thediscounts in premium available under this policy 4
(IF & 6 )

) fordt Sodt & Py g sifyefdl & e /E F i F g
qiferelt & W T @ T SEvaEdl € 2

T) frdvel o sfemftdl o Taar oiferh & T@ &l vl & S
HfC |
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a) Whatis the need for designing a policy for providing protection to Directors 6 each

and Officers of a Company?
b)  Describe claims conditions of Directors and Officers Liability Policy.

Hrefife S (Sitenfirer iR-sieifie Sifew) i & siwta fafafed
i) e foear amr

i) foeia <er RaifeT am

i) WU @l G

Explain the following clauses under Public Liability (Industrial/Non-industrial
risks) Policy.

)  Notification Extension Clause.

i) Extended claim reporting clause.

i) Indemnity to others clause

37) WU Id G IART foh wresifores ao friienr o Sorar a8 &
ferer WYy ST 1 S & WY gTe R S @
q) T Y & FEeE S FRE TRE S |

a)  Givereasons why excess of loss treaty reinsurance is popularly used for
public and employer’s liability insurance
b) Give an outline of how this treaty operates

12

12
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MAY, 2010 .
B SHEpirEiksita
ASSOCIATESHIP EXAMINATION
ENGINEERING INSURANCE
T ;3 6 | [&et i @ 100
Time: 3 Hours] - [Total Marks : 100
foredl o1Ts TvAl & I RT | wurw w9 & 16 3iek & feneg T Stfamd Wl €1

T aft U U 12 A H R
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. @) I gk g qun e gk @ g i & er R qen 8
Tk g faret #1 S |
¥) U Sy g Sifigw - i g S g aifes & s & 4
ok AR § § I veEH B e S g @ e
de ¥ o feq g 2 |
¥) i g @ g o & efefa <X frefer wfewel Sife | 4

1. a) Compare & contract between Advance Loss of Profits and Machinery 8
Loss of Profit Insurances.
b) Among the many joint insured under a EAR - ALOP policy, identify those 4
who have insurable interest in ALOP section.
¢) Comment onrating of ALOP insurance. 4
2. Siger qur IR wie Ui ¥ i - (37 & 6 37)
3) W@ uasH
I) wE ud & § ?
2. Under Boiler and Pressure Plant policy what are the 6 each

a) Major exceptions
b) Major conditions?

3. Shel F Wile aY HIG ST & 3iaia Uwh s fewuit fafen | 12
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Write a comprehensive note on Contractor’s Plant & Machinery Insurance. 12

RS (3M]) qoaer™ M &1 wipfd 3q dweralsll g0 soame 12
AT SHTeER e G IR #1 Seohg FIT |

Discuss the underwriting safeguards adopted by insurers for acceptance of 12
Deterioration of Stocks (Potatoes) insurance.

(IH & 6 37F)
1) goliferfr formr & famfor /ot ao e =/er § smedta g
S 1 S areht S S % 9 saRy |
9) 39U (37) § “gd Sifew” difafael @ et |

a) Name the construction phase & operation phase insurance policiesissued 6 each
by insurers in Engineering Department.
b) Identify the “All Risks” policies among those in (a) above.

forell e gt o it ofElism & YeereRaT 3 W T W A 12
el et 1 Seohg iR |

Mention the Golden Rules for housekeeping to be observed ina running factory 12
Or a new project.

3 Ferianstt &1 vewH HifT S 5 3R 3§ sifay ©e S T
TeSfEn 7 giferaa), 391 & oy 81Y § |

Identify the features that are common to both the CAR & EAR insurance 12
policies.

, (8% & 3 3i)
fraferfee fafoe aRaemmei & 92 ey @l &t vgam i
3) Sl TERA
) Hesh o i or
) TES 3AfEa gRENE
?) uEveTsH ffor e
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Identify the special hazards associated with the following civil projects. 3 each
a) Tall Buildings
b) Road Construction
¢) Hydro-electric Project
d) Pipeline construction

e § ffafed veafadl & saren Hi (9 o 4 37%)
3) FT WX

q) AT

) ®H s

Explain the following terms in reinsurance:- 4 each
a) Quota Share

b) Surplus&

c¢) ExcessofLoss

I STHWT A & GE 3 (S & w9 g o) & oftd 12
YT GO K qUIH I |

Describe the cover under Section 3 (increased cost of working) of Electronic 12
Equipment Insurance.
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ASSOCIATESHIP EXAMINATION
MISCELLANEOUS INSURANCE

T : 3w | | [ i : 100
Time: 3 Hours] [Total Marks : 100
Ter=l 3rme Wt & S T | worm wowr % 16 3ie § Forg g atramd T €
FmAft yRm U 12 S H E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. ) AfKId gEeAT St Ff TF oy Wil AFT S @ | T HAT 10
I afyfd &1 fag qgr 3us sufygrd & deof § @y Fifvm)
) st s gee diferdt & siorfa S o arfafs faemy 4
Syee @7 wfra # fefay |
%) ST ¥ F o R G ST ghe G 2
YT § ?

1. a) ThePersonal Accident policy is deemed to be a benefit policy. Explain 10
the statement with reference to the principle of Indemnity and its corollaries.
b)  Write briefly about the free additional benefits which are available under 4
the Individual Personal Accident Policy.
¢)  Which of the above free benefits are avaﬂable alsounder a Group Personal 2
Accident Policy.

(7% & 6 3(ah)
2. o) 7 Sl & SeRed ¥ fR el i e i @ S g 2

q) o9 AW & SeFld UGSl HI W FIT |

2. a) Whatare the underwriting considerations to be taken into account for 6 each
Money Insurance?
b) Specify the exclusions under Money Insurance.
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(T8F & 6 3{%h)
37) THACR qUT Tewardt S wiferdt i wmer frervareiiet g #
FAIC | ,
q) FEfCE G Faa & fafa svoe fedl B Wl @ geg
T |

a)  Detail the common features of shopkeepers and householders Insurance 6 each
policies.
b) Listout any six sections available under Office Protection shield.

fafafed W foega feumft fafay | (IS & 4 3h)
) Iure foerd shar (arean) facyr oo i ofed & siarta amn
o & focia 1 dte
9) foem ewefarsmar Stwr (sveran) twaTmeRR (sfa/gim) S
%) Uy S

Write a detailed note on the following:- 4 each
a)  Lift Irrigation Insurance (OR) Delay of Baggage Cover under Videsh Yatra
Mitra Policy
b) Special Contingency Insurance (OR) Acquaculture (Shrimp/prawn)
Insurance
¢) Cattle Insurance

37) HeHd T TS Y9 § SRR Y8 WHeTl 39 S 81 2 | 9

9) gfche = s w8 ? 3

a)  Which questions usually appear in a Burglary insurance proposal form? 9
List them out.

b) Whatis aduplicate key clause? 3

afsedn difest ¥ fofafen wffe v @@ gfbd w@ 8 2

37) FEarl/AET B 3

q) 3Tere H Ry €S ST 3

%) W_a@wﬁ:ﬁ 6
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What do the following terms signify in a medi-claim insurance policy?

a) Hospital/Nursing Home 3
b) 24 hours stay in hospital 3
¢) Domiciliary Hospitalisation. 6
37) ot doelt § Qe 9% U vewayul Tfafaty st g S @ 2 4
q) Ao W e #t g feivang s @ 2
a) - Why Reinsurance is considered as a very important activity of an Insurance 4
company. '
b) What are the main features of the proportional Treaty Re-insurance. 8
dord iohe aifyfdt uiferdl & sianfa omafa fafe oTafemarst &1 12
941, |
State the different Contingencies covered under Bankers Blanket Indemnity 12
Insurance.
37) fogeqar TRET S SE H gl T SoTel S R % 8
Hed 4 foRieeti & Ieoig FifT |
q) O FIUESS JUTCH A1) & o o fauw wecgeiiet S wfee? 4
a)  Specify the features which constitute an effective control system, with 8
reference to a proposal for Fidelity Guarantee Insurance. :
b)  Which specific aspects will have to be looked into, when a computerised 4
system operates?
(TAF & 3 3()
) T KU FI At T & AT T wow wow g e S
F SR 8 | F. Q0,000 T TH G I S q1 Y Hlerh g
F TR ] | I AT T A S % Gl B g w4 S
A1 | T A e & AT A B ?
¥) ®. 3,00,000 g TRT qA . §o,000 TIFA AT H TH

SAfhT e Uiferd! H ST ST o @ | < § el h R
AT @ | 9 & Toawy Y T ) I qul STeRhdr e
©.4% TIEl SR SRR 8 | IET 7 TRT et it ?
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8)

b)

d)
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F) Yo a»‘thrrﬁa‘rﬁmﬁﬁmﬁawﬁ@ wo TG T URT & FaileX

fergrrar T aifert S &t TR | T SHERel % Gis-Tis TN

®. & @RI W O gaT 2 | < °F TR et anft 2

Th &7 Yiferdfl i €91 €. 30 TG 97 SHHfed e ae

® 3 HIE & TG B S 8 | RS g 3w

HETIHAT & FROT &, Yo AN oM 3% § A7 M7 | HHE

TS . Qom%a‘rﬁ@ﬁmw@ﬁmﬁﬁ@ﬁﬁ?ﬁ
T & | I 3 UfS e @

A 50% first loss policy is issued with a sum Insured of Rs. 1 crore. A loss
occurs there under of Rs. 90,000, which is investigated and confirmed by
the surveyor. It was however noticed that the value of concerned property
atrisk was Rs. 1.5 crores. What would be the amount of claim payable?

Aclaim occurs in a Personal Accident policy which has a Sum Insured of
Rs. 3,00,000 and a cumulative bonus of Rs. 60,000. The claim pertains
to a fracture due to an accident. This resulted into 5 weeks of Temporary
Total Disablement and 7.5% Permanent Partial disablement. What could
be the amount of claim payable?

A floater Fidelity Guarantee Policy is issued for a sum insured of Rs. 50

lacs, covering 50 employees. A fraud totaling Rs. 6 lacs was committed -

by 3 of the employees in collusion. What would be the amount of claim
payable?

A money policy was issued where the limit per carrying was Rs. 30 lacs
and the estimated annual carrying was Rs. 3 Crores. Insured sent 2
employees to get Rs. 40 lacs from the Bank which was urgently required.
The Money was being brought by the employees in two bags, each
containing Rs. 20 lacs. On the way in a robbery /hold-up 1 bag was lost.
What would be the amount of claim payable?

3 each
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ASSOCIATESHIP EXAMINATION v
LIABILITY AND ENGINEERING INSURANCE

T 3 Ee ] ,. [&e 37 : 100
Time: 3 Hours] [Total Marks : 100
ol aTTe wy=t & et ST | wore woet ok 16 3feh € Teheg I atforamed =l ¥
I AM URF UIT 12 AFHF |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
: compulsory. All other questions carry 12 marks each.

Marks
1 3) S FAEE N TH A G SE WA o 10
TG 8, 1 I TIVT GHITC AT $Th HEUT & F 1 T

& T0% H WY HR |
¥) ITIh WU H R H TG FA AT TH B WE R | 6
1. a) Suggestsuitable cover to client who is constructing infrastructure Road 10
Project and explain its scope of cover and how to insure?
b) Explain the factors that influence the rating of above cover. 6
2. 3heR & Wi qd oy oifere & (W o 6 3%)

) W & ad
¥) Y@ UGS B GO R |

2. Describe: _ 6 each
a) Thescope of cover and
b) Principal exclusions of a contractor’s Plant and Machinery Insurance
Policy. '

3. 31) WM <1 Uiferdl & Sfavid ST &7 Td S9asHl & gl i | 7
) WM(WW)W%WWWM 5
ﬁaa‘fﬂ%lw
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a)  Describe the scope of cover and exclusion under public liability policy. 7
b)  Explain various extensions available under public liability (Industrial risk) 5
policy.

"I AT W1 B SMET Fele 95 Hewqy & I w12
Sweid FT S % Siifem et 8 foamofa 8 qo s@ ¥93
4 et e st g |

“Risk Management is vital for product liability coverage.” List out the factors 12
that will be considered for risk Assessment and details required in proposal
form.

Tl v W 9ftra feafirgl fafe _ (el % 4 1)
) AfHT A & TEl & fau afat

) A A s

9) dfagr st diferd

?) ey aur sfusd oiferdt

Write short notes on any three:- 4 each
a) Damages for Personal injury claims

b)  Volunti Nonfit injuria

¢) Contract works policy

d) D& Opolicy

Wy T :

) Al TE & Gy ¥ (e % T Sew 3

) s i i faft 9

Explain:

a) Mainobjects of reinsurance as relates to Liability reinsurance & 3

b) Different methods of reinsurance. 9
(IS & 6 3(h)

37) 3 Rl w1 gefias Sifse, e siaria e S getmesT

S F & fe e qrlt € R |

9) SRY & U gfas aftfd dfedt & stavaear &1 aui w0
BU 39 WU & &7 F oW HT |
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a)  List out the circumstances under which the employer is not liable to pay 6each
compensation to employee.

b) Explain the need for professional Indemnity policy for Doctors and its
scope of cover.

frafafas o e fomfirai fafec . (IS & 4 3(F)
3) sAreEd § ISRl o |
d) YA FERE FAWET FEA s

W) Wl g & e wifer % sfarta afaqRl sty a frfo |

Write short notes on : 4 each
a) Roleof engineers in underwriting

b)  Factors that influence the reinsurance programme.

¢) Fixation of Indemnity period under Machinery Loss of Profit Policy.

(I & 6 )
3) ToiRiTE YT S § afqiiET ¥ SR B Wy HR |
) Fefifrafr qifafaet & sfavia &fy 89 | SaRs & 991 sdeg
A ?

a)  Explain the basis of Indemnification in the Electronic Equipment Insurance. 6 each
b) What are the duties cast upon the insured after loss under engineering
policies.
(o % 4 %)
e eARTd (311e]) s uiferdt & dedf § frmfifed &t e HivT
37) WU K &F T TG s
9) AR qor oitea wd
¥) afaqfdetor @ smuR

In respect of Deterioration of stocks (Potatoes) insurance policy, explainthe 4 each
following :-

a) - Scope of cover and Principal exclusions,

b) Suminsured and average and

¢) Basis of Indemnification




